1.

2.

GROUP I PRELIMINARY 2015

GROUP I 2015 BIOLOGY

The Purines present in nucleic acids are:
I. Adenine and Cystosine
II. Guanine and Thymine
III. Adenine and Guanine
IV. Cystosine and Uracil
a. Vv b. III c. Il d. I
pupdbellsd Slbleomiseiled smewrl LB Liuyfleisel
I. semenet wBBID wa CLrdles
II. @eouneier LOBBID enIHLO 6
ITI. ongemeet LOBMID (& 6TedT 60T
IV. ews@Lndlerr wommid uymale0
a. IV b. III c. II d. 1

Find out the correct matches:

I. Enzymes - Biological catalysts

II. DNA - Nucleic acid

[I. Insulin - Hormone

IV. Vitamin E - Water soluble vitamin
a. Il only b. I only c.l, lTand IV d. I, II and III
gilwmer QUTHSBSHHMTH [/ WMGUBM6N HEWIL 1.

L. OB - o uliflu Aflwr emaaser
II. 19.e1601.6) - Pwsells odleold

III. ®eirgedesr - ammT@Lomedt

IV. weul Lidlesr E - [Biled SMIWD el L LOl6H

a. II o @B b. I o @B

c. I, Il wppid IV d. I, Il womund 111




3.

4.

5.

6.

If a colour blind woman marries a normal visioned man, they will produce
a. Normal visioned sons and daughters

b. Colour blind sons and normal visioned daughters

c. Normal sons and colour blind daughters

d. colour blind sons and daughter.

PBSSHHLG  CuesiemlBGD, QuieouTel  UTTened OdTemi.  SLeliB@D  SHl(HLOGWILD
BLHST6L, BeuTHel OLBOBHEHSGLD

a. LDHETH6IT LOBHILD LDBEITHET EUIGOLITET LITTEN6U 2 60L UIGUTEEIT
b. waas@eT BBEHEGHHHHHEMD ML WAITH6T IDBHBID DHETHET SUICOLITET LITTen6l
© WL WIGUTEHGEIT
C. LD&GITHGT BUICOLITET LITTenel 2 _6enL UWIGUTH6T LOBBID Lo&H6TH6T BBd & (HL BHSHIML
© L WIGITEHG6I

d. Wwa6aEIHeT BBID OHETHET BBHEHHL HHDHEEND 2 L WIAITHET

Cretinism, myxoedema and goitre are related to the disorders of the
a. Parathyroid gland b. Thyroid gland

c. Adrenal gland d. Pituitary gland
Sl gelgbd, WSHGFT 6NglOT LOBWID (LPeT HILSHHIHLOM60 HFHUI CHTNTBIHET EHEIL 60T
OSHTLITLEmL WG]

a. CuymenayTuwiB SyLL b. ewgymuiG Sy
c. ol fared &yrid d. gy e spond

Which one of the following is NOT correctly matched?

a. Anopheles Stephensi - Leshmaniasis
b. Glossina Palpalis - Sleeping sickness
c. Culex Pipiens - filariasis
d. Aedes Aegypti - Dengue fever
SLPHBHEMILUBMIET HauBTed CUTHSHSLILIL (HeiTendl 617
a. 9Germ." .L1606r0 6101 GILIGHTE - 65erOBoeswimdlerd
b. denmmdeflwm LmedLITaerD - 2 BHH GHTUl
C. &HULEVH6rD MLILILTuUIEDTerD - WITemedIsdHmed Gl
d. gLe mFedlienL - QLBIG STUIFF60
Match the following
I II 111
1. Thiamine A. Cheilosis i. Pellagra
2. Niacin B. Polyneuritis ii. Glossitis
3. Riboflavin C. Nicotinamide iii. Beri beri
4. Biotin D. Antipernic iv. Hyperestheria

5. Cyanacobalamine E. Coenzyme R v. Pernicious anaemia




7.

8.

. b -iii

a.l-a-v 2 3.c-1i 4.d-ii 5.e-iv

b.1.-b -iii 2.c-1 3.a-ii 4.e-iv  5.d-v

c.l.-d-ii 2.a-V 3.b-iv  4.c-iii 5.e-i

d.1-c-iv 2.e-1ii 3.d-v 4.a-1 5. b -iii

CUT(HSHHIB

I II III

1. swider a. FGeurdlerd 1. GUGLELHIT

2. mHwdlesr b. umedmluyii igero ii. @GenmdIL Igerd

3. MGumenailesr c. pGsm 1geaTenin@h iii. Qufl Gurfl

4. uGuwmgedst d. egitGuiteld sHeitenio 1v. enamuGyerogdum

5. gwenBGasTumeoLdlesr e. Gemewt OpTeH — R v. GQuieldwed BIsHs
Garems

a.l-a-v 2.b-iii 3.c-1 4.d -ii 5.e-iv

b.1. - b -iii 2.c-1 3.a-ii 4.e-iv  5.d-v

c.l.-d-ii 2.a-v 3.b-iv  4.c-iii  5.e-i

d.1-c-iv 2. e-ii 3.d-v 4.a-1 5. b - iii

Which of the following statements about ‘Glycolysis’ is/are True?

I. Glycolysis is also known as Pentose phosphate pathway

I1. The substrate of Glycolysis is Glucose

I1II. The final product of Glycolysis is Glycogen

IV. Glycolysis is also known as Glyoxylate cycle

a.land III b. II only c. Il and IV d.IVand II
‘FemensBameddlerd’ LBl BpdbHewiL FaBmIBefled aid / eteweu Fifl?

[. dwenasBasmeldody Mmabalmer GUEGLTED uTerdCUL  auPlILTDS  eTeTaLD)
SIMPLILITTE G

II. HemensBasmelderderr Hem't CUTHET & EHHBHTerd

III. HewensBGasmeddlerd MHdalet (palll QUT[HET &enenaBHTagest

IV. demensBasmeldled mabalener SlememuimedeavBol. &HipBd elamabd DIeNLDLILITTSET
a.l wmpw I b. II 1o Bib

c. III wmmp IV d. IV wpgpid 11

Arrange the following common units of classification in ascending order :
I. Family

II. Order

III. Species

IV. Genus

a. IL LI, IV, V b.V, 1V, 11, 1I, I

c. I, V, 1V, 11,1 d. IV, III, V, L II




LeiTeU(BLD  eUENSLILITL Q6T QLTSI DIe0GHmeT ul auflengulled 6J(LHIH.
I. Family

II. Order

II1. Species

IV. Genus

b. II, I, III, IV, V b.V, IV, I, 1II, I

c. I, V, IV, II, I d. 1V, 111, V, I, 1I

9. Choose the correct answer :
The itai-itai disease of Japan was cause due to
L Arsenic pollution
II.  Cyanide pollution
[I.  Cadmium pollution
IV. Lead pollution
a.land II b. I and III c. III only d. IV only

gflwrer alledL  H(H.

sliuTeler @ULTuwl - @Urmul Crrul o (HhauTsssHHBE STIeniLd
I. srgals wrsHUTH

II. ewswener wT&UTH

III. sm_1buwb wr&ur®

IV. Qeol (Fwub) omaUT(H

a. [ wopmpup 11 b. II opmip 111
c. III @B d. IV ol @G
10. Match the following
A. Sericulture 1. Farming of agauatic organisms
B. Horticulture 2. Culture of honey bees
C. Aquaculture 3. Rearing of silk worms
D. Apiculture 4. Cultivation and maintaining gardens
A B C D
a. 3 4 1 2
b. 2 3 4 1
c. 1 2 3 4
d. 4 3 2 1
CUT(HSHISH:
A. GQafae0Fai 1. preump o uffler euemiTiiy
B. ammingsevat 2. Cxpel eueniliy
C. 915baITEH60FFT 3. UL GBULAD 6UETTLIL
D. glissogai 4. GHTL L HBH6em6V




A B CcC D
a. 3 4 1 2
b. 2 3 4 1
c. 1 2 3 4
d. 4 3 2 1
11. Match the following:
A. Krebs cycle 1. Occurs in cytoplasm
B. Ubiquinone 2. Diffuse from cytoplasm to mitochondria
C. Glycolysis 3. Mobile carrier
D. Acetyl-CoA 4. Occurs in mitochondrial matrix
A B CcC D
a. 4 3 1 2
b. 3 1 4 2
c. 1 4 2 3
d 4 1 3 2
OLIT(HSHHIH:
A. Syl spBd 1. el CLrienTeshdled HewL OlLmID
B. &g ullenmeir 2. gl GLmlenmashale0hba el GLm
STewtgfluime|b@ LT
C. demensBameienderd 3. pB@HID Baflwitsel
D. oenilLed glemewt eaiienervidey 4. ewiol GLmasmesngflwimaiesr Gl fldberd LGgHuled
bevL GLmILD
A B C D
a. 4 3 1 2
b. 3 1 4 2
c. 1 4 2 3
d 4 1 3 2
12.  The plant type which colours the ocean surface water red is
a. Dinoflagellates b. Golden algae
c. Green algae d. Red algae
sLev Hiflar Gomurlieny OShHBIBOTS WIBBID HTEUT 6UMS
a. ewL BemmlieumedlBsul6rd b. she BB sLeoUTS
C. UFME BB &L 6OLITH] d. deuly BB sSLeOUTS

13. Identify the numbered substances in steps of Glycolysis
Clucose —1 — 2 — Fructorse 1, 6 bisphosphate
a. 1 is Pyruvate (2) is citrate
b. 1is Glucose - 6 - phosphate (2) is pyruvate
c. 11is Glucose -6- phosphate (2) is Fructose -6- phosphate
d. 1 is phosphoglycerate 2 is Glyceric acid




BHenensBamedlFlery Lighleneuderiled eTewidbenTe0 GHMlSSUILLL  CaugdlliOUT(HelTsemend
&H6T(BHLIY

&emHCHmTerd ..LIgHGLTer0 1, 6 leroumerd@ui”

a. (1) ewumBeul (2) Gyl

b. (1) &e8asmerd -6-LmerdBuL. (2) enLHGeuL

c. (1) &epBsmerd -6- umerdGUIL (2).".LysGLTerd -6-Limerd@uLi’

d. (1) ureBuradefa@r. (2) Hefafls ouevb

14. Consider the following pairs:

I. Thallophyta - Algae and Fungi

II. Tracheophyta - All vascular plants

III. Bryophyta - Liver worts and Fungi

IV. Pteridophyta - Mosses and Mushrooms

Which of the pair given above is/are correct?

a. lll and IV b.Iand II c.land IV d. II and III

LNeiTeU(HLD Eem6emTHeM6N H(HHH 60 O\BTeiTH:
[. HM@enmemul LT - SLe0BTHDHET LOBEID Li6heMEhH6I

II. wyéasGuimenu’ LT - QUTEIVGEUMT &HFidbH6lT 2 MUl SIMTHDH SHTEUJHISHEN
III. WNewyGuimemLiLm - 69euT@aum 6vd o@D 1L 6hemEhH6NT

IV. GuAGLmenu’ LT - LDT6IV&6IT LOMBBILD SHTEMTeIH6N

CuopeRiil L Smeausefled e &ifl?

a. III wommnp IV b. I wmund 11

c. lopmip IV d. IT womunp 111

CHEMISTRY GROUP I EXAM - 2015

15.  For the Daniel cell E° = 1.10 V. The value of equilibrium constant (K) for the
reaction (at 298 K) is

Zng, +Cug,y — Znsy +Clg,

a. 4.36 x 103 b.2.79 x 104

c. 6.53 x 103 d. 1.55 x 10%7

CLallwed sevdhFlenn eiafled Spseni aleneruier (298Kebd) sFwplenso wmpded (K)-ulles
oG ?

Zny +CUl = ZN(ay +Clyg,

a. 4.36 x 10% b.2.79 x 104 c. 6.53 x 103 d. 1.55 x 10%7

16. An example of commonly used herbicide is
a. P, P~ - dichlordiphenyl trichloro ethane
b. 2, 4 - dichloro phenoxy acetic acid
c. Benzene hexa choride
d. Naphthalene




QUTSHIUTHL LWSTLBGSSILGBD H6n6nd6sHTe060

a. p,p — oL&CamGyrenLLienened 9eny&CammGrm m&HGgHe0
b. 2, 4 — ewL@CmmGym Uamsben) oF19d Siflevld

Cc. QuenFerr Gamaam GGenmeny(H

d. mr..igeSe

17.  Match the following :
A.Naand K - i. Obtained by electrolysis of fused salt
B. Cuand Ag - ii. Occur only in native state
C. Au and Pt - iii. Occur both native and combined state
D.Naand Ca - iv. Reducing agent in metallurgy
E. Aland Mg - v. Occur only in combined state
a. A.-v B. - iii C.-ii D.-i E.-iv
b. A. -iv B.-i C.-ii D. - iii E.-v
c. A.—ii B. - iii C.-v D. -iv E.-i
d. A. -iii B. -ii C.-i D.-v E.-iv
QUT(HHHISH:
a. Na wmpid K -1 2 (@l 2 (U LeTeBLIEG $HH6e060 SHlenL SHBSHI
b.Cu wBpid Ag - il. geflds Beevuled I (B SHenl B
c. Au wpmdb Pt - 1. gelds wBpId Gsibhe Memeouled HlenL sHBa
d. Na wpgib Ca - iv. 2 _Geursalwelsd @BHE Syemnd
e. Al wpmpiw Mg -v. Gabhs Benevuled 10l BB Henl EHMSHI
a. A.-v B. - iii C.-ii D.-i E.-iv
b. A.-iv B.-i C.-ii D. -iii E.-v
c. A -ii B. -iii C.-v D. -iv E.-i
d. A. -iii B. -ii C.-i D.-v E.-iv

18.  Which of the following is/are wrong?
I. Mg»Cs on hydrolysis gives acetylene
I1. BeoC on hydrolysis gives methane
III. Al4Cs on hydrolysis gives allylene
a. land II b. II and III c.Iand III d. I, II and III
LeTaumeuaieuBplen SHaupTaienal 6d&l /  eleneu?
[. Mg,Cs piimBuG LIy SImLbEH SIFL19eSamens; S(HLD
I1. BexC pymBu@iiy sl bal 15H8Hemern GeuefulBid
1. ALLCs BImBUGLIL DIDLHEH DICLSMEIMEIS SH(HLD
a. [ wommnd 11 b. II iopmip 111
c. [ wompp III d. I, Il womund 111

19. New elements and rare-earths are discovered and fixed in the periodic table using]




20.

21.

22.

a. Bragg’s law b. Moseley’s law

c. Compton’s effect d. Bravais lattices

Usls SelomiseT wwppid sflw yeld Helomser sSenipuliuLab, $Hefio  aufleds
I Lauenentufled GUTHSHSUILIL YD LIWGTLIB6IG

a. Mpnder e b. Gurgeluler ol

C. STDIL T 16066 d. Myreneuerd oewileCsmeane

Arrange the following int eh order of increasing solubility in water

i. NaHCO; ii. KHCO; iii. Mg(HCO3),  iv. Ca(HCO3),
a.iv<iii<ii<i b.i<ii<iii <iv
c.ii<iii<i<iv d.iii<i,iv<ii
Leiteupd Gaiomisenen Siaumpslen BHifled SenJud SHmeNal euleufenguled er(LpSIs.
1. NaHC03 il. KHCO3 1il. Mg(HCO3)z V. Ca(HCC)g)z
a.iv <iii <ii <i b.i<ii<iii <iv
c.ii<iii<i<iv d.iii<i,iv<ii
Match the following;:
Actinide element Atomic number
A. Plutonium 1.102
B. Curium 2.100
C. Fermium 3.96
D. Nobelium 4.94
A B C D
a. 1 2 3 4
b. 3 4 1 2
c. 3 4 2 1
d. 4 3 2 1

gilwns  QUT(HSHHIH:
HYMET[H  HELOLD S\eW)|  6T680T

A. e GLmefluib 1. 102

B. suyflunb 2. 100

C. QumAuwib 3. 96

D. @Gpmisdwib 4. 94
A B C D

a. 1 2 3 4

b. 3 4 1 2

c. 3 4 2 1

d. 4 3 2 1

Match the Number of electrons transferred (a) when one mole of KMnOy is
reduced to (b)




A1, 3, 4, 4
B. Mn;O3, MnO,, MnO?Z, Mn2*

a.1- MnO:, 3-MnQO,, 4 - Mn;0:;, 5- Mn2*
b.1- Mn?+ 3 - Mn,O;, 4 -MnO,, 5-MnO?,
c.1- MnO,, 3 -MnOi-, 4- Mn2* 5 - MnyO3,
d. 1 - MnyO;, 3- Mn2+ 4 -MnO? 5- MnO,,

SLSHFHLIUBLD 6160 JTeiiHeMet elewienibend (a)- @ Gumed ghdasliupl Gurg
o M@ OHTLTuTen SiemwlisCerm®h (b) GUMHSHSHEET (Heb.

A.1, 3, 4, 4

B. Mn,;O3, MnO,, MnO?%, Mn2*

a.1- MnO?, 3 - MnO,, 4 - Mny,O3, 5- Mn2*

b.1- Mn2+ 3 - MnyO3, 4 - MnO,, 5-MnO:,

c. 1- MnQO,, 3 -MnO?Z, 4- Mn2?+ 5 - Mn,O3,

d. 1 -MnyOs;, 3- Mn2* 4 - MnO; 5- MnQO,,
COMPUTER

23.  Expand FAT
a. First Allocation Type
b. File Allocation Type
c. First Allocation Table
d. File Allocation Table
FAT eaeauger alfleurdasid eresrer?
a. (wpeo umS B euems (First Allocation Type)
b. Gamiy umsl B euens (File Allocation Type)
c. (oo LUmS BU uliguisd (First Allocation Table)
d. Gamiy umas GU ulusd (File Allocation Table)

24.  Which of the following is used to store large amounts of data?

a. Primary memory b. Auxiliary storage

c. Cache memory d. Random access memory

SIPHBTEID [HeNETEUBRIHENED 618 HIHBLILIQUITET HBH6UeLHMm6T BFLOHS LILSTLIGHMBSI]
a. (IPHEENID [BleneTalBHLD b. @rewiLmb Blenew MHenaraldbsid

C. Cxay FHeneareusld d. Gy SiEmIBeL Hleneraisbid

25.  Give the value of Terabyte.
a. 210 b. 220 c. 230 D. 240
QLTITeOLIL 196 OFHLILNeNS Fnml.

a. 210 b. 220 c. 230 d. 240




26.

27.

28.

29.

30.

31.

‘Bluetooth’ technology is

a. Satellite communication

b. Wired communication between devices

c. Wireless communication between devices

d. Communication between landline to mobile phone
‘UenBS OBHTH6OBILLID 6T60TLIG)

a. QFwmBensCamer OHTLT

b. &m smalsensda_BGui o 6fTenm &bl C&HTLT

C. & asmalseEnrdsHlemLCu o eten &b Eeveom GIGHTLITL
d. seorafl OsTenevBurfluledmbs maLICLF CBTLTLIGE

The list of coded instruction in computer is called

a. Program b. Algorithm

c. Flowchart d. Application Software
SellIGUTIuled Sy ememidaiearr CHTEGHLIL

a. myev b. GB®we»s

c. GFwed el LD d. nweum G CLoaTOILIM(H6IT

GROUPI - 2015 CURRENT AFFAIRS

Which Indian city has been declared as the cleanest city in the ‘Swachh Bharat’
ranking 2015?

a. Kochi b. Thiruvananthapuram

c. Bengaluru d. Mysuru

‘FHHD gt @hHWT Ul uieded 6bhd BHHW BEJD WS SFSHHOTE BHBJLD earml|
201560 Gsitey OFuawliLIL (heiTerng?

a. OzrFd b. SmeuenpbLgLd C. GumIBEH® d. enwEm

Recently Union Government has decided to develop a spiritual capital of the
country. Which among the following is the city?

a. Ujjain b. Varanasi c. Nasik d. Bodhgaya

SIS HTeVHHD LDSHH U DITFTEIHI BD BT Q6T Q(H HBTHHeneT LeIbs LelHd
SHEMGUBBILOTE 2 (HeUTHS (LPIQLUBSHHIGTENHI. SDESHMILUBDIGT HiGI 61HhS HSJLOTEGHLD)

a. 2 _M0muie b. eunyewird]

c. prdd d. ussswr

India’s largest telecom operator is

a. TATA b. Bharati Airtel c. Reliance d. Aircel
Sphgywneler Wasleuflw OHTmevd OHTLTL Hinleued 61gI?

a. Lmem b. uryg giteLed . Memeuuasierd d. gireged

World “Car Free Day’ is observed on




32.

33.

34.

35.

36.

a. September 12 b. September 22

c. October 22 d. October 18
® & ‘ST LWSTUGSHSTSH BTel DeiFhobaliLbeald
a. Qg ur 12 b. QguiLbuir 22
c. o&B6LmTuT 22 d. &&6Lmur 18

Which court ruled that “Eu-us data Transfer Pact’ is invalid?
a. American Court, New York

b. British Court, London

c. European Court, Luxembourg

d. International Court, New York

oG wellwer - wemer Gl ed@LLed (Eu-us) efleuy ufliombp @uubssms
OFeveuTdl 61adld SN SHS BHEHIOIBLD

a. o6wfss BHIOGIBLD, BuLwITTe

b. ey BAWDEIBID, 6V 65T

c. Grmiw BaHlwepd, vd6FHLEUTTS

d. B T@RFeaeL BAIDGEIBID MHluyuirTd

The Leader of the Congress party in the Lok Sabha as on September 2015

a. Mallikarjuna Karge b. Sonia Gandhi

c. Ghulam Nabi Azad d. Rahul Gandhi
@aliLbu, 201560 Gevmdbgumaled STHRISTV HLFuler HenevalT
a. eLeVBTegPenT SHMTCH b. Gareiwm spHd)
C. @eomb BL S FTH d. pnge sMhd)

‘Pay Zapp’ a mobile application to make digital payments was started by which
Blank?

a. SBI b. ICICI c. HDFC d. HSBC

senlIOUTY  cpeotd uewd Gaess ‘Pay Zapp’ eeigmid enasBudl QFwiedensy 6lbs
QUBIE  HleUBIBIU|6TTerTH]?

a. erer.L9.e9 b. ;m.8.:m.4.:m c. QamF.g.eild d. Cam&.ererd. 1.4

In the Australian Federal elections 2015 for the Prime Minister of Australia, who
emerged as winner?

a. Tony Abbot b. Kevin Rudd

¢. Malcolm Turnbull d. Julia Gillard

2015 oedGredw /OUGELOFed BHTHeded evdGredur Lgsw whHHNwTs  Geumps
CuBmeuT wimT?

a. GLmel &Gum b. Qaalen em®

C. LDTeOHMD BLT6HTL |60 d. eg2edwim dlevevrit(h

“Indradhanush” introduced by the Central Government in August 2015 aims at :
a. Establishing a separate ombudsman for private sector banks




b. Reviving or revamping public sector banks
c. Reviving non-banking financial institutions
d. Introducing new banks in rural India
B 201560 HHW  HIFFTe0  HBWSILGSSILLL  ‘BhHTHamied’  FHL L SHFHel]
GprésLd

a. SONWTT HIOB eURISHMeT HiTouHHs Hal DEMLIML gBUGBSSHIMSI
b. QurgissIB amdsmen GULIDLIGSSIMISH DIeLVEI FTENLDLILIG)

C. aumd gMgm Hg HBleuahigemer WL FTemoLiLg

d. espe @bHwmaled UHw eumidsmen DN(IPSHLILIGHBIOISH!

37. Sunhak Peace Prize was won by

a. Ms. Zhanna Nemtsove b. Zaina Erhain

c. Dr. Modadugu Vijay Gupta d. Mr. Zia Haider Rahman
SAIABTH Siwog Lfdemear FH19F OFQBeuT ol

a. Fm g GBILGFTeUT b. enggeT eliTaBUIG

C. LIELT OrLr®h@ elgul @Lg T d. S Bur mamsT FaBLoTes

38.  Which gas has been recently discovered in planet mars?

a. Hydrogen Sulphide b. Ammonia

c. Methane d. Ethane
FlUSHe0 CFeleuTUl HFHHHe0 6lhd euTw| SeorL Ml Beitend)?
a. AL JeT FeoemLI(® b. o@wmefluwir

C. 1858He0t d. F&B8zmen

39. Which Indian Temple was awarded ‘Award of Excellence’ for conservation by
UNESCO in the year 2015, in Bangkok?
a. Guruvayoor Temple, Guruvayoor
b. Vadakkunnathan Temple, Thrissur
c. Padmanabhaswamy Temple, Trivandrum
d. Tirumala Temple, Tirupati
abd @phaHw Camuiense ugmofiiBstear 2015 b SeHIg6r Hemev FBhs al(hal
UNESCO aured GUBIBTHH60 aUPRIBIILIL L )7
a. @GmmeuruyT Gsmulev, @ (HeUTULT
b. e s&@GaBTHer Boruled, Hiflerdg@sT
C. ugpTUGT Gsmuled, SH(HeuabHSHLTLD
d. Fmweor Bsruied, Hmliug
40. The Union Urban Development Ministry has selected 978 town/cities from all
over the country to graduate into smart cities in five years. Select the town/ cities
not included in the list from the following
a. Coimbatore b. Dindugul
c. Chidambaram d. Erode




HHW BSTIYB Cubum (B DIMWFFHID BHILIYeL 98 BEIhSMmen CaHiTe CFUIg MbI
SLWIBH6MNe0  OUBeNB  OOMTL.  BBJRIFENTS  OTBBIWDIDSES — B(HSHH QMBS
S1pSHBHEWILaUBMmIeT eromTl. Fllg Ll guielled GFTHaLILLTHmS 0FHfle] GCFuis.

a. Gasmwbyga T b. Hemihebme0

c. dsibuyib d. =Gy

41. The country that has become the first defaulter, among developed nations, on
debt of International Monetory Fund (IMF) on 30t June 2015
a. China b. Italy c. Greece d. Germany
2015, egeeir 30-60 euenT&FFwemLbH BIGBEHEGH6T IMF sLewenr CFaissd sHeoupw
CETNGICROE

a. engeT b. 85516 c. &liferd d. Gggmoesd
42. Consider the following statement and choose the correct answer from the given
options.

I. Shompens is a tribal inhabitant of Nicobar Island.
II. As per 2011 census, their population is 229.

a. I only true b. II only true

c.I and II are true d. I and II are false

Neteu(hd  Fm@mens  Soualisd  OBTGHSULL(HeTenensudbeiled  Fflwmer  alenLenul
CaiTh 0% [BHoH&HaLD.

I. “a9mbOueited” BlaGsTuNT Haled alfHGID QT LIPHIGIQU 6T
II. 2011 wésl. OFTmd BETHOBBLLIELIY EalTHeler hHeT CFHTensd 229.
a. (Ip&H6ev Ml WL (Bib g b. ®yewimeugd mmm L G g
C. OQrewiB Fflwmerg) d. SrewiBd HeupTers
43. Justice D.P. Wadhwa committee was appointed by the Supreme Court to examine
a. Insurance schemes
b. The level of black money in the country
c. The functioning of rural development programmes
d. The Public Distribution System

® FFHHOAMBSHIHTO  Dend  PIMUIUSBHTS  BHWIFT .  auTdHeum &P
DIMLDHBLILILL G

a. M (s FHLmsei

b. BT g6 &mULLT UTISHHET D616

C. &PmMD euenT&FFd Sl L migemen OFuIeoLITHE6IT
d. Qure IPHGWITE (Lpevm

44. Identity the correct statement from the following
a. Tiruchirapalli has been declared as the second cleanest city by Swachh
Bharat in 2015
b. Tiruchirapalli has been declared as the special cleanest by UNESCO in 2015
c. Goa has been declared as the second cleanest city by Swachh Bharat in 2015




d. Mysuru has been declared as the first cleanest city by United Nations
Organization in 2015

BIpSH B auBmie Filuwimen Fampileneid SHeuTLnslb.

a. HmFAymiveiel BEIHMHH BTEWILToUSH SHHSOTeT BBJD 6l 2015-60 rO6UF UM
SR

b. FmFAyriveied paIHemd BIHILTaISH HSHDHTERT HEHJD 66 201560 WGererd@amm
SipeliSgieTeTg)

c. Camoumr mEEHIHMH DIWILTUFH &GHOTeT  [BSBJD 66 2015 60 606UF ULTTSH
SR

d. owE®m BIIHMS (PHEVTAIHI HHBLOTET HEJLD 6l 2MeHUl BTHE6T Fewu 2015-60
OBl SHHI6NTeN .

45.  Nobel Prize for medicine in 2015 was awarded to
I. Tu Youyou
II. Satoshi Omura
1. William Campbell
IV. Arun Bahl

a. I only b.L, I and IV c. Il and III only d. I, II and III
Grmusd ufla 2015 WHSHBHUHHO BeuHEHG / BalTaEhdE DPalbsliul [BeTeng
L Guwu

II. s°CLnd eupym

III. aflevelluid Gs1bliGILIed

IV. oimewt umai3sd

a.l wl @ b. L III wpp IV
c. Il wommd III wl Gd d.L I wpmup III

46. Which country has come forward to help clean India’s River Ganga>

a. Iran b. Israel c. Ireland d. Italy
OhHwmaler SmHend BHoW SGSHHD CFUIW 6hEH BTG (WPeTeubhDHlenendl?
a. ®ymesr b. &evByev C. OIWITCUMHGI d. @551

47. Government of Tamilnadu awards Dr. A.P.J. Abdul kalam award for a Tamilian
for his/her contribution to
a. Development of rural health services
b. Scientific, art and literature development, humanities and student welfare
c. Tamil literature development
d. Development of sports
sopas s Dr. ¢.19.680. oix6e0 Se0md alhdd @ SOWWHESG EHHmBUled
URISeMUNBETS  6ULDHIGHSIBSI.
a. gymoiys &areTy Gubur(®
b. gnaluwe, ®mev WBBID Sevddul euenTFd, weald GBUID LOBEBID OTETEIT [HEVGT
C. D Bevdbdw euenTFd]




48.

49.

50.

51.

52.

53.

d. elewenwin’ Bgh slemB (peTGaIBBLD

Identify from the options the name of the Central government portal for students
looking for educational loans
a. Vidya Vikas b. Edu Care

c. Vidya Lakshmi d. Shodhganga

LomeTeUTH6ei 6l Hevalld HL 6T GHTLTUTET DSHHU DFFET HH6U6D BHLPEBHEIL UBMI6N
GTHEN60 266N 6ITLINSHD HewIL N5,

a. alsuw alsrad b. e Gair

c. algw 6ol &Ll d. GangsmisT

Which of the following day is observed as the National Statistics Day?

a. June, 8 b. June, 29 c.July, 1 d. October, 5
BIPHHWIL 61hH Hleld “BapFlw YeiTelluwied Heomons” ienigfebsiiLbGSBa?
a. og°air 8 b. sgear 29 C. o6y 1 d. @&@Lmur 5

Tuyoyou of China has been awarded the Nobel Prize in medicine for developing
a new drug called

a. Avermectin b. Artemisinin
c. Ivermectin d. Parasitin

o1 BT ewL&F Caibg S, 6TaiLIN(hES BDbS L(HHmS HewiBLIYSHIBHTE LO(HSHHI6US
SHlBHBTe Chmed uflg aumISLILL L ).

a. SIeUTEILDEBIQ6T b. aymgLodlesies
C. 2eUTOLDSHIQEIT d. umyrdliigesr
Which corporation in Tamilnadu was awarded the best corporation award for the
year 20157
a. Chennai b. Vellore c. Madurai d. Tirunelveli

SOIDBTL 96T 61h& LOTHSBITLHHG 2015 b SewigBaTer Fpbhs WIHSITLS al(Hmg,
GLBBSI?
a. QFeienesr b. Geugurit C. LDGHIN] d. FHmomeGalel

Every year 13t of August is observed as

a. Voluntary Blood Donation Day b. World Hepatitis Day

c. Swachch Bharat Day d. Organ Donation Day
@6UCeuT(H LewIBD ‘SpHerol. - 137 BTNTES SmIFTNHSLILGHBHI?
a. ST BFHHID QUPHIGLD [HT6IT b. 2 & ®606SJ60 FOBF HI6IT
C. &MUIemD @HAHWT [BI6i d. o @iy Hrend HIeT

‘International Day of the Disappeared’ observed by United Nations Organization
every year falls on




a. November 30 b. December 26

c. August 30 d. October 25

@6UOeUT(h SLeWIBLD MEHHUl BTHH6T FenLUNEITED ‘DIFl60 2 605 SHTewNTos0 GUiTeteuiT
FHend’ eFfeslILBLD HT6l

a. meubuT 30 b. gFbuT 26

C. &y@merol 30 d. @8GLmur 25

54, The President of Srilanka as on June 2015

a. Maithripala Sirisena b. Ravi Karunanayake
c. Mahinda Samarasinghe d. Mahinda Amaraweera
agrail 2015 60 WfevmIBTANGT GTHILIS
a. ewwgiumeor FfGaerm b. gal a&mewmpTwICH
c. waslibaT FogdniGs d. wanibaT Suoyaiym
55.  Which state government in India has started the ‘Labli Beti" scheme for the girl
child?
a. Madhya Pradesh b. Uttarakhand
c. Jharkhand d. Jammu & Kashmir
ShHwneler 6heH WIH0 DFF OUemT GhHmSHHETeEr ‘eumell GuLly’ L Hms
SIS 6o ?
a. wHHuUI 1MgBxhaIb b. o saitemeui
C. SQTEhabEuITL d. ;b & sTaft

56. Consider the following statements about Suraksha Hose:
1. The hose is made of rubber and is green - coloured
2. The outer layer of the hose is fire resistant
3. The middle layer of the hose is made of brass- coated high carbon steel wire

mesh

which of the above statement is/are correct?

a. 1,2 and 3 are correct b. Only 2 and 3 are correct
c. Only 1 and 3 are correct d. Only 3 is correct

“GrHagT OBAIDe] GTUI” UBPSiu SIDEHHMIL FnBBISHMmeT H(HHHL CHT6TSD.
1. @&@WwTul guugmed GFuwiul L&l oBBID UFmHF HB(penL WG

2. @s@wTulear Geael SIBHEG OBMBLY aHTIY SHBer CLBBE

3. @&@wTuiear BH DbHG UHHemenl LF&D, STTU6T 6r0lesd S aUeme0 OHTemiL g

BauBmiet 61k / eleveu Fifl?
a. 1, 2 oppid 3 g b. 2 wBmid 3 w GG &l
c. 1 wBpid 3 wl @G Fif d. 3 w GGw &
57.  Nobel prize 2015 in Physics was given for the discovery of
a. Path of electrons in electro magnetic waves
b. Path of neutrons in magnetic fields
c. proton oscillation




d. Neutrino oscillation

Suwpiwesvssmer Cpmued ufla 2015 B&aemGLILILIBSTES UPBISLILL (HETeTSI.
a. WeBHS DIMeVH6MeD 6106VHL JTTeaTSH6MNeT LTnS

b. &mbs euwied uFliEefed Buyl greidefesT LTS

c. UGymLmenr & FGevaei

d. Pluy MBem &yflBsugest

58. In October 2015 Russia’s Sergey Karjakin won the World cup for
a. Table Tennis b. Chess c. Golf d. Polo
gadwrailer OFTey sTmrdlar  9BELIUT  2015-60  SeualenemuTlIgeT  © 6055
Gamienuenul GleuesTBeuT

a. Gy GILateflerd b. sasiymisD
c. Gamev. .l d. GumnGeur
59.  Which country was affected by “Typhoon Goni”?
a. Philipines b. Japan
c. Sri Lanka d. Canada
abd BTH “‘@mmeuei GCsmel wimed UTHBBILLL F)?
a. LedlienLieiterd b. egriimest C. BenhIND d. sem

60. Match the Android OS versions with their Names:

OS Version Name
A. Abdul Kalam Award 1. G. Jothimani
B. Kalpana Chawla Award 2. 5. Sampath Kumar
C. Best Doctor Award 3. P. Simmachadran
D. Best Social Worker Award 4. N. Valarmathi
A B C D
a. 4 2 1 3
b. 4 3 2 1
C. 4 1 2 3
d 4 2 3 1

uCiguied I o Ler ulgued I-ewr Uil @G sflwmer alewLemul BHihOHBHBALD.
U guiey I U guiev 1T

A. 9llige0®He0mD ail(HGH . 2. Gmrgineu

B. seouemm Fmeleom al(hal 2. §.81USHGLTT

C. dmbs WwmHSHT al(HSH 3. um. FibwahH et

D. dphs Feps Caust al(mzl 4. [BT. QUGS
A B C D

[

4 2 1 3
4 3 2 1
4 1 2 3




d 4 2 3 1
61. Which country devalued its own currency in August 2015?

a. India b. Japan c. Germany d. China
ahd BT SHATEMIenL Ul Ui er gllilener ueerol. 201560 Hremasal &HMmBEHHH!?
a. @haHwm b. sgimest c. O d. Ferr

62. The 50t Anniversary of 1965 Indo-Pak war was observed on

a. 27 August 2015 b. 30 July 2015

c. 30 August 2015 d. 28 August 2015

1965 @baHw undlerogrer Cumher 50-Sueugkh SLewih HD DeIFASSILLL BT
a. 27 &yserol 2015 b. 30 sgeemev 2015

c. 30 gymerol 2015 d. 28 g@erdl” 2015

63. Match the Android OS versions with their Names:

OS Version Name

A. Android 6.0 1. Kitkat

B. Android 5.0 2. Lollipop

C. Android 4.4 3. Jelly Bean

D. Android 4.3 4. Marsh Mallow
A B C D

a. 4 2 3 1

b. 4 3 1 2

C. 4 2 1 3

d 3 1 2 4
ST JTuIlh Buiml@ GFuwed(penBullenst SieuBplert GLUWITHEHL 6T FHwmasLl

CUT([HSHSIb:
Buimig Gguweour( Quiwii
A. s gnui 6.0 1. &Gl
B. ayen gmui® 5.0 2. eumeILIMLI
C. syeigmui® 4.4 3. G606 Liest
D. syen gnuip 4.3 4. 1omiTerdGoBeur

A B CcC D
a 4 2 3 1
b 4 3 1 2
C 4 2 1 3
d 3 1 2 4

64. The last movie for which late M.S. Viswanathan composed music is
a. Engirundho Vanthan b. Suvadugal
c. Devadoss d. Ninaithalae Inikkum




M.S. aledoupTaHer @nIHuITes QamFwennds Henglul b

a. eIBIBHHCHT GUHBT6T b. Feu@aser
c. Gxpeuzmhmerd d. Pevarsato @eilaad
65.  Who was awarded the Stockholm Water prize for the year 2015?
a. Amalendu Krishna b. Rajendra Singh
c. Mansingh Rawat d. Modadugu Vijay Gupta
2015 &b SLewigBETer eOLTHGammder BT ufg wWihdb@ eUPmISILILL &)?
a. SILLVHSEI B(HagewTT b. n@xphdy Hmi
C. LomeTelmI JmeuTd d. GurLrhg elgul &lsT

66. Google’s Alphabet website is

a. alpgoogle.com b. googlealbet.com
c. abc.com d. abc.xyz
Fn@6Medn SLEOLIOLIL.  Een6mTUISHENLD
a. alpgoogle.com b. googlealbet.com
c. abc.com d. abc.xyz
67. Organisation slapped fine to the companies for not appointing women
directors.
a. BSE b. BSI c. SBI d. BCCI

HleueTLOTed), CUeRT Buish@bTEmen BUINSSTH HLDOLINHEHES
SIUITHID G SHBHI6T6NS).
a. BSE b. BSI c. SBI d. BCCI

2015 GROUP I - ECONOMICS

68.  Agricultural unemployment may be classified into
I. Seasonal unemployment
II. Disguised unemployment
III. Chronic unemployment
Which is the correct answer?
a.land II only b. Il and III only
c. I'and III only d.I, IT and III
allsugmudbgienpuisd Gausmeoulaienoenul SDSHEEBIL UTH] UM LILIHEHSHE0TLD
I. umeusmev Gauemevuleitenin
II. wenpwas Gousmevuleiento
III. Puss Geusmevuietento
gflwmenr ugHenev GUBIULIL D
a. [ wppid I w @G b. I @b 1T 1w G
c. lwompp III w1 Gd d. I, 1T wppio 111




69.  Fill up the blanks:

National population policy adopted in 2000 with a view to encourage and aim at
stabilizing the population by .

a. Two child norm, 2020 b. One child norm, 2030

¢. Two children norm, 2046 d. One child norm, 2050

STl mIBenen HIFlILS

GBLUSH DS LM 2MSbGHalbIA|D DHH6T  OHTeNHMUI D SLEuTIQ6Y
BeneolILBGHSD 2000-b Spemigent CHFWI HH6elT OFHTend OBTeiTenHEUN0 GFBBIBTTATLILIL L S

a. QIWIB GWhmSHHL LD, 2020 b. @ GwbMs HLb, 2030

C. @yewi(h GWHMd HL LD 2046 d. @m Gwbhmse &L, 2050

70.  Arrange the following sectors in India descending order according to the commercial
energy consumption
1. Household sector
2. Agriculture
3. Industries
4. Transport
a.4,3,1,2 b.3,4,1,2 c.3,4,21 d.4,1,32
auenid o3 HISTalar SieliLenLuled SEBTaIDd BHHUl HimBHemen GmmiG euflengullsd
afleng LB SHHISH:
. B)eLe0GHGHIMM
. Gouenmemrenio
CaTPBaFTemnev
. Curs@arsHal

B LW =

71.  Match List I with List IT
Laws Years
A. The Banking Companies Ordinance 1.1966
B. Special Bearers Bonds Ordinance 2.1980
C. Unlawful activities Prevention Ordinance 3.1984
D. Terrorist affected areas ordinance 4.1981
A B C D
4 2 3 1
3 1 2 4
2 4 1 3
1 3 4 2
utuwed [y ulipuwed -2 L&t QUTHGHSHIS:
FLLID 6U(THL_MBIG6IT
A. auRIE GHQDHIGET DlaUFT FULID 1. 1966
B. dpiy Wewemippd uSHmiser Seurs gL LD 2. 1980
C. sLLFBG LUBDOUTET BLIQHMBHMN HBHHGWD FLULID 3. 1984
D. galjaurglsemed LUTHSSILLL LUGHB6T Sjeud] FLL LD 4. 1981
A B C D

an o

0o
N W

2 3 1
1 2 4
4 1 3




d. 1 3 4 2

72.  The MGNREGS differs from other poverty alliviation measures in the following
respects
L. It focuses on income generation to the targeted poor.
IT. It is built around the notions of citizenship and entitlement.
I1I. It facilitates disclosure by means of regular and social audit.
IV. It operates as per the directions of the State/Central Governments
a.land II b. IT and III c.land IV d. I and IV
B g BHeHG FHLmseNed(mHbah Shdsenil aldpdHdHed CoaumLbS B
[. MGNREGS @iulil L gemwselar aumeuruilenar ifsfaagd Chraspen wg
II. 831 GYwwssen WBEBID SigliLmL. o flewemwl HHTIDTHS CFHTERI(H 2 (HeUTHSLILL L F
III. OFHTLTHS BWILD FUPSHTUW HEWIHTEONILSBHTET aU(LPemBEHm6T 2 mIg CFUISBSI.
IV. 1onmplev 1oBmid wHHul DIFFidelen Lenenisbehdhdemimis OFuleoLIBHSBS.

a. [ opmip 11 b. I wpmid 111
c. loppin 1V d. II opgw IV
73.  The Nutrient Based Subsidy (NBS) policy for fertilizers was implemented in India in
a. 1966 b. 1977 c. 1991 d. 2010
BhHWTaled o JRIGBEHHBTEH 26 | FFHH SlgliLienL uleomen wrefluid OCaTeTend Hiaumidwl
RG]
a. 1966 b. 1977 EapI1 d. 2010

74.  Industry which is reversed for public sector in New EconoOmic Policy

a. Atomic Energy b. Cotton Industry

c. Sugar Industry d. Tea Industry

yasw Cummentsmy Osmetensulled GUTHISHIMBUIET S 6hHEH OHTHeL HBEUEID @FHISHHH
QaFuiwiiu’ L g)?

a. SIMIOFIFHS) b. u®SHFHHEHTIH60

C. Fidbsmy OHTH6d d. Gzpuiemevd OQFHmifed

75.  Match the following and select the correct answer

A.Tax revenue 1. Provident funds
B. Capital receipts 2. Taxes on income and expenditure
C. Non-plan expenditure 3. Sales tax
D.Value added tax 4. Interest payments
A B C D

a. 4 3 2 1

b. 1 3 4 2

c. 2 1 4 3

d. 2 3 4 1
erau(meueteumenmll QuThe s Fflwmer alenLenwl BxiTe) GFuis:
A. aifl aumeumul 1. QUBHRBIBTEO el B
B. cpeumen sumeumu 2. au@peutul oBmId GFeve] kT euflaei




76.

77.

78.

79.

C. S L1060 QF6v6) 3. alBuenen eurf

D. waiy aiigw eurfl 4. ally OCFISHHIH60H6N
A B C D
a 4 3 2 1
b 1 3 4 2
C 2 1 4 3
d 2 3 4 1

The National statistical commission of India was headed by

a. Monteck singh Ahluwaliya b. C. Rengarajan

c. Raghuram Rajan d. V.K.R.V. Rao

@bgwraler Cadlw Lerell aleuy Suemend eoursH HemeVenOUTed DIWLOHS(HHHH.
a. TSEL & dml 9jevieuTedluim b. #. QymisyTeges

C. JGUMD [regest d. al.8s.y1.60. g6l

The structure of Indian Financial system does not include

a. Industrial finance b. Agricultural finance

c. Development finance d. Deficit finance

@b B (wempuler SLLemLIL EGHMET 2 6iTeNL S&HUIGH D606V
a. Gzmpsd HH b. Geuenmewst [

C. oueniT&d Bl d. uBBTEGMB HH

Which of the following is/are incorrectly matched? Select your answer according to
the codes given below

I. Credit Creation - Reserve Bank of India

II. Commercial Bank - Adopting deposits

III. Reserve Bank of India - Control Credit

IV. Quantitative control - Scheduled Bank

a. I only b.Iand II c.lland IV d.Tand IV

Leiteugeuetoumpsled efemeu gflwimeg GuUTphSHaleoensv? H6 GaThasliul (BeTer GHBluibBaemern
LWSTIL(GSHS o miseT aleLenul BHiho%HHds:

[ sL&1 o (HeuTdesbd - @hHwer MaTel eumid

II. cuewllads eumISHe6i - mAULILBHEM6N  JBMIS6IHT6ITEmHH60

III. @bgwer Mairel eumig — sLeT S BUUBHSHIH6D

IV. eiemiemieniey &L GUUTL(H (WemBEH6T - LLIQUIGD 6UMRISISH6IT

a.1 w’ G b. I oo 11 c. II wpgip IV d. I opgi IV
GROUPI 2015 GK

Who is the chairman of the 20th law commission of India?
a. Justice. Ajit Praksh Shah b. Justice. Srikrishna
c. Justice. Katju d. Justice. K. Balakrishnan




@hFHwreler 206Uz FLULSGSGUOT HEN6VEUT WIMT?
a. pHUS. 985 LITBTOs agT b. pAug. nf Hmadewrm
C. hbAUF B og° d. pHugd) K. urevdlmageures

80. In which Indian state the women, except Brahmin and Bania community,
terminate their marriage relationship through the custom called “Chudi

Pahanana”.
a. Andhra Pradesh b. Chattisgarh
c. Jharghand d. Uttaranchal

BhHwmaled 6hdh THeVSHHL LIFToewlT oBmId usnilwm  CQuewnideens Haly, LIn
QUERIHGT  “@lg LIQBTEIRIT  — (PedBLILIYS SHHIS6T S o mel (PBHHH

OB T6ITa 631mB6uTT?
a. Ay LIgCxaIb b. gl eedesiT
C. SQMTEH6uTL d. o sarmehaev

81. Which of the following statements about Mother Teresa is/are True?
I. She founded a new congregation named Missionaries of Charity
II. She did not accept the citizens of India
III. She was awarded the Nobel peace prize
IV.In 1929 A.D. she came to Madras as a Missionary.

a. I and III correct b. I and IV correct

c. l and IV correct d. [ III and IV correct

&HT QHCram OFHTLTUTET BBl FmBmIGHeaiey Filuimearemel eleneu?
I. oput Wdarferd it amfilly a8IB FenLeMW Hi6wE 6NTT

II. st GhsHw Guflenoeul gBmis FHTeTenals0m60

II. omwdHssrear Ghrusd Lfa SIITHEHHE PRSI L S

IV. &.19. 19290 semip CFeaienend@ &Floul UJLILITENITS eUbSTT

a. [opmpd I sflwmeng b. Il opmip IV sflwmeng)
c. loppid IV sfwrerg) d. I, IIT wmmnp IV afwirerg)
82. What is India’s rank in the global production of milk in 2010 - 20117
a. First b. Second c. Third d. Fourth
2010 — 11 Sub SLeTged 2 eusenTalwl LTed 2 BuUsHHuled @bFHwTaler S eTeireo?
a. (IPHeVL LD b. &yewnmiid ¢ epemmiid  d. preiETOLD

83. Where is the head quarter of the Forest survey of India (FSI) located?
a. New Delhi b. Dehradun  c. Chennai d. Mumbai
OhHU T HWHBL(H SHENEVMIDUISLD 6IHIE DIWLOHSHI6NTeNSHI?

a. muyol 606l b. GLym®Best c. GFeienen d. @piben




84. 2020 Olympic games will be held at

a. Beijing b. New York c. Chicago d. Tokyo

2020 @eVliblls alewemwim (1 Gumily HenL GUEBID &L 1D

a. Quuiggm b. Buywiitd c. flanBasr d. GLmaaGwr
85.  Who was known as the Father of Library movement in Tamil Nadu?

a. Thiru. T.K. Avanashilingam b. Thiru. M.P. Periyasamy

c. Thiru. M. Bhaktavatsalam d. Thiru. Muthiah Chettiar

SWODHT. G BTVS BUISSSHHET HHnS 6B DIENPSSLILIL L GUT WITT?

a. g T.K. oeleamdedmisd b. dm. M.P. Quilwgmd

c. Hm M. uszmaugbsFeod d. . wHmswWT GF 1guit

GROUP I 2015 GEOGRAPHY

86. Which among the following correctly matched?

a. Kol - Madhya Pradesh
b. Chhutia - Nilgiris (Tamil Nadu)
c. Kotas - Little Andaman

d. Jarawas - Assam

SDHEWILUBBIeT 61l Fflwms QUTHHSUeTeng)?
a. Gamed - wHFHW LFGxHaid

b. @l iguim - peodferd (HLOUDHTH)

c. GamLmerd - QILLI96D  OHSHLOT6HT

d. sgmymeurerd - SIGrO6NMLD

87. The place of India which does not have tropical evergreen forest is
a. Eastern part of Western Ghats
b. Western part of Western Ghats
c. Andhaman and Nicobar Islands

d. Eastern part of subtropical Himalayas
OHHWTAN60 DIUIET LOGWIL 60 LIGHLD LOTBTHSTHHMET OHTIITSH LGS

a. CuoBg CHTLTFS wemeoullel HlPsHSGL LGS
b. Guie OaTLTsdl wemevuler GUB@HI LGS
C. OIbHTeT HIECHTUTT FHe el

d. o u swer HPsHE GSLOUIDEN6D

88. The portion of incident radiation reflection back to space from the planet is called
a. Atmospheric windows b. Albedo

c. Rayleigh scattering d. Law of scattering
GTlws sFHTeisFdlear @m uUGH Ursueiinier cpeold alewiOeeidg  SHHUILT
SI@IILNIUGISI BelauTml DIHDSSLILBEHMBSI.




a. aNeMDEIIL 6V F6T6Te0Es 6T b. ©e0euGLT

c. gBev @eFHBmev d. @alF Hamed aid)
89. A major diamond mining centre in Belgium is
a. Aalberg b. Aberdeen c. Aabenraa d. Antwerp
QUELWISHHD 2 _6iTell @ LITHTE DeUTFSHIMRISLD
a. oLeLOILITEH b. &6uiTge C. SLeueyT d. syen Geur. .1

90. Rank the given soils of India in descending order in terms of their area/extent
a. Red soil, Alluvial soil, Laterite soil, Black soil
b. Alluvial soil, Red soil, Laterite soil, Black soil
c. Red soil, Black soil, Alluvial soil, Laterite soil
d. Alluvial soil, Red soil, Black soil, Laterite soil
QBTBSBLILL(BeiTem  @bHAUW W aueddHMeT  UTLiLeTale  Siglitemuied SBmiE
afleng LB SHSHIH:
a. OFIbewT, eUeNTL6LLD6wT, Geul LewyLl. Loewl, HflFeD LDGIT
b. euewi_ed 1oewt, GFbDewT, GeVL LWL LDGWI, SHMF6ed LOGT
C. Oabewt, &MF6e0 LD6WT, 6U6WTIL 60 LD6wT, GVl L 6L DG
d. euewr_ev 1oewr, GFbO6wT, &MFed 6w, GeOL LWL LG

91. The planet which is known as the “God of War’

a. Mercury b. Venus c. Mars d. Jupiter
‘Bumt sLe6ell’  6lTBeMLOSHBLILIBID Babmei
a. LHei b. Geueiterfl C. GFaieumul d. elwmpesr

92. The ice-crystal theory to explain precipitation was propounded by

a. Tor Bergeron b. E.G. Boven c. Richl d. Davis
wemlp alpFFlenw alleuflds ualiliLgs GHTL LT ML 2 (HeuTdhalieT

a. Lt Guirellyesr b. ®.89. GuTGeuer

c. MFQF6v d. GLalerd

93. In which of the following states of India, Inland water transport is not important?

a. Kerala b. West Bengal c. Bihar d. Gujarat
eteu(hd @bFHW LOTHIeVHISET60 61 LOMHeVSHHL © 6ThTL (B BiTeull CuTshGaursHa|
(PSHSBWIDTRIHTH  B606n60?

a. Gayenmm b. GuB@eumisTend C. UiamiT d. s

94.  Which kind of power accounts for the largest share of power generation in India?
a. Hydro - electricity b. Thermal
c. Nuclear d. Solar




95.

96.

97.

Shywmeled e6bhgH Wt FEHUlGT  cpeoTH  HIFHB  lemalled L6
® BUSHHWTHBSHI?
a. B Weramyid b. &jerevLdle
C. SINEHTFHS d. eflw 55
Which among these sanctuaries is not present in Tamil Nadu?
a. Anaimalai b. Point Calimer
c. Mundanthurai d. Periyar
BUBDBIGT 6ThS FTEOITEOTWID HLODPBHTLIQEL E60em6v?
a. SLEEGITLDEMED b. umufen’ smedior
C. (LPeWIL[hBHIeND d. Quuwimir
Match List I with List II and select the correct answer:
List I (Climate) List IT (Reason)
A. Chennai is warmer than kolkatta 1. Distance form sea
B.Snowfall in Himalayas 2. Altitude
C. Rainfall decreases from west Bengal
to Punjab 3. Western Disturbance
D. Winter Rainfall 4. Latitude
A B CcC D
a. 1 2 4 3
b. 1 2 3 4
c. 3 2 4 1
d. 4 2 1 3
uliguwied I-g uluwied e L et Qummsgd sflumer el emuis OFfa CFuis:
U iguied I (smevplensv) ulguwiev 1T (smyewrid)
A. Qa5 Tme ol OF6iener GeulilnTe 2 6Tengl 1. HL6060 @(HbHAHI HTILD
B. ®wuinensouied LieiiGuT ey 2. 2 Wyl

C.CBg aumssHelHbhal UehFTl Crrdd 6GlFeven

DML  GMBHBSI 3. CuBashzllul STHBE
D. geflitamen wenpliGumfey 4. oI 5Cyena
Which of the following is not a planetary wind?

a. Westerlies b. Trade winds

¢. Monsoon d. Polar easterlies

&8s CaThaHsLILL BeiteneuBmieT CHTel HTHBBI HIEVEVTHEMEY 6157
a. GuenevdaTmm b. elwmumysd srmm

C. L(HoUS SHTHHI d. sime SosBTBHI

F5H)




98. Choose the correct match:

R-5
R-1
R-4
R-1

S-6
S-2
S-1
S-6

List II

1. Stromboli

2. San-Andreas

3. Himalayan Range
4. Epiccentre

5. Weathering

6. Exfoliation

gilwmes QummpbHweaBens CHTHOHHHS:
U guieo 1T

List I

P. Fault

Q. Fold

R. Earthquake

S. Volcano

a. P-1 Q-2

b. P-5 Q-6

C. P-2 Q-3

d. P-4 Q-3
Ul iguiey I

P. Deney

Q. gty

R. yal oigiey

S. enflenev

a P-1
b. P-5
C. P-2
d. P-4

Q-2
Q-6
Q-3
Q-3

R-5
R-1
R-4
R-1

S-6
S-2
S-1
S-6

1.

A

R L ETEY

GITE0T  SLE0TL 610
BouIemnevsd OSHTLIT
DIFTe| MLOWILD
amalenevd Fense)
QuTemm

99. The major temperature fluctuations in surface waters of the tropical Eastern
Pacific Ocean is Called as
a. Temperature inversion
c. Thermocline
SO 60 HpdhG LS FupsHHr CuoBurliied giuBl Ol gmms
ST BEMTETH BeIaUTn DIMPHSLILIGH MBS
a. Geuiu HemevsLp LOTHBBLD

C. OxT@Tsenernest

b. Convention
d. El Nino and La Nina

b. QeuliLg gFeved
d. 660 BGeuim wBE@ID HlevrT




2015 GROUP I - POLITY

100. Consider the following two statements consisting of Assertion (A) and Reason (R)
and select your answer using the codes given below.
Assertion (A): The administrative reforms commission recommended Lokpal
and Lokayukta.
Reasoning (R): These are for the Redressal of Citizens grievances.
a. Both A and R are correct and R is the correct explanation of A
b. Both A and R are correct but R is not the correct explanation of A.
c. A is True but R is false

d. A is false but R is correct
Neteumd B eumdhswmideiled  OQBTHHBUILUL(HeTem  Fa@mml (W) &Iyewid (&)
HFUMUBMNTH  HHHH60 OCdTewihy HdTamid  COFHTGLIST0(HHFH 2 _Mibe6l
alemLemwl Ogfley OQFuls:
BHHSH (A) : Geordsumed BEID Geurd SLUSSHTNa GBLIBHBIUSBE HTeUTS

P BSS Spwemuid LfpSIDISSS!
sryenid (R): Bewausen @glodseier @GHenpodmen GUITSHE@GaSBHTE 2 6T6ITe6l.
a. A oppdb R gdwu @pemibid sflwm@d  woppd R eaemg A uler  gfluwime
e BLOTGLD.
b. A oppid R fu @rewiGd gilwun@d semmed R eremug A uflesr  gfluime
Q1618 BHL0606V
c. A sflun@ib guemed R Heum &b
d. A seum oyFHID Semmed R aflwmgio.

101.  Which one of the following is not correctly matched?
a. Article 153 - Office of the Governor

b. Article 156 - Term of the Governor

c. Article 154 - Executive authority of Governor

d. Article 155 - Removal of Governor
LNeiTeu(HLIBMIGT SHoumnsd DenewidbSLILIL (HelTend 6157

a. algl 153 — ouenppT uHal

b. ald 156 — SEHHT LSS HTeVD

C. algl 154 — SLEBHHT HITEUTHD SIFHSTILD

d. el 155 — euenpT UFHel BHHID

102.  Which is/are correct relating to the Tribunals?

1. Part XV of the Indian constitution deals with the Tribunals.

2. Article 323 A deals with Administrative tribunals and Article 323 B deals with
the tribunals for other matters.

a. 1 only b. 2 only

c. Both1 and 2 d. Neither 1 nor 2




FSriumumiseT OFTLTuTs Fflmeaemel o1&l / eleneu?

1. @b Sdweoemwliiear 15-aug LG STUILTWLRISmET alens &S Bl

2. allg 323 & pifeurs STUUTWHIGMeT aleldGHIHMEH BBID algl 323 & B®
STiuTwmsemeT GBIULIGHBS

a. 1 wl @ b. 2 w @B

c. 1 oBmid 2 P BB d. 1-b &ed6v BBWID 2-D 6LV

103.  Which of the following are major features of the constitutions of Lokpal and
Lokayukta as recommended by the Administrative Reforms commission?

1. They should be demonstrably independent and impartial

2. They should compare with the highest judicial functionary in the country.
3. They should be directly accountable to parliament

4. Their appointments should as far as possible be non-political

a.1land 4 b.1,2and 4

c.1,2,3and 4 d. None of the above (or) 1, 2 and 3
pifauTs FTHHHH DemeniisHHTe0 UfbgHieny GFuiwiul L SeniolisenTer GeomUmey)
Bmid Geuord LSS Tale (IDH6T QiJT WBMID HH6T alHLILTENT) (SHSHUI LIGETLISH6N
S1DSHBHEWILIBMIGT 615 6160 Fnpeyld?

1. salFmFUTEAD UTTULFIOBB (PedBUled OFuIsoLIBH60

2. BILIYed 2 FFHAHIOGIBHH OFUICOLITHBHEHL 6T UILTL LI 6D

3. UMITEHLORIBSHIHMBS LSHV6aTNSESS FnlguieTael

4. 9laUTH6eNG Hulwerd SFFuied FMTHauTml Rmbs Ceuewi(BHLd

a. 1w’ @B 4 b. 1, 2 w' @Gw 4

c. 1, 2, 3 w. @b 4 d. GuoBsewi. agefeoamev (&) 1, 2 wBE@ID 3

|04. Match the list :
A. Fourth Schedule 1. Division of Powers
B. Seventh Schedule 2. Seats allotted in the council of states

C. Eleventh Schedule 3. Languages
D. Eight Schedule 4. 73

A B C D
a. 1 2 3 4
b. 2 1 4 3
C. 2 1 3 4
d 1 2 4 3
gllwnerend CUTHSHSHIH:
A. BTeUTaIZH DI L 6)emewT 1. &iFsmi UGy
B. gpmeug oL euenemt 2. LOMHEVRIGETEMaIGE @HIHSHBH Gauiuiul L
BL_mIG6IT
C. ufBamymeaugl S L 6)ener 3. Qumplseit
D. el Lmoug I L auenemt 4. T36ugl FLLSFH(HSHILD




105.

1 06.

107.
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Consider the following statements :

The Comptroller and Auditor General of India is responsible for the audit of the
accounts of

1. The Union Govt

2. State Govts

3. The governments of Union territories

4. The Urban and rural local bodies

a.1,2and 3 b.2,3 and 4 c.1,3and 4 d.1,2and 4
OHH TG HENEVMID HeWIHEG LOBBID HewlHemd HIHSHTMNH6NT BLDHEMIL BH6wIEH BN
Hewlldmad CFuiud GUTBILILIeIeTeTaITS6IT

l. DHHU DIFFTRIGLD

2. LDTHI6V SITFTHIBHISEN

3. welwenr LyCahamimeile ©IFFTmIGBRIS6N

4. BSTIYDB, SPmolys oBBID o 66Tl & SIenLOLILEH6T

BIPHHWIL. FnBBIHENET H(HHHleL OCBTewIH 61g FHWTEIH 61601 FnmIsH?

a. 1, 2 w' @ 3 b. 2, 3 w G 4

c. 1, 3 w' (Bw 4 d. 1, 2 w @D 4

The Administrative Reforms Commission of India was set up on 5 Jan. 1966 under
the Chairmanship of

a. K. Hanumanthaiya b. H.C. Mathur

c. G.S. Pathak d. Moraji R. Desai

1966-10 syewi(hy meveufl Hmider 5-0 CHg gBUBSSILLL BbFHw Hifeursd ST mHd
SLENETUISH ST HED6VEUT

a. K. emgiobsuiuwim b. H.C. wrganit
c. GS. uTHsH d. Qummregd R. Gzamul

“The Supreme Court in the Indian union has more powers than any other
Supreme Court in any part of the world” - Who said so?

a. S.M. Sikri b. Sir Alladi Krishnaswamy Ayyar

c. M. C. Setalwad d. Justice Kania

“@hIU MEIULSHHST ©_FF BHAIDGIDBID 2 60Hl60T 61HSH BTLIQEVIETEN © FF BHAHIDGIBHMDH
AlLa|b DIFHD HHBMID 2 ML UG DS’ BeUeuT FpsluleuT wmT?

a. 61610.6TLD.F1 ] b. g1 9ebeomy &Hagemrdeumidl ST

C. o1b.d. QFLevdeus d. pgaug smeflwr




| 08.

1 09.

[ 10.

Which of the following are matters on which a constitutional amendment is
possible only with the ratification of the legislatures of not less than One-Half of]
the states?

1. Election of the president

2. Representation of state in Parliament

3. Any of the lists in the 7t Schedule

4. Abolition of the legislative council of a state

Choose the correct answer from the codes given below :
Codes

a.1,2and 3 b.1,2and 4 c.1,3and 4 d.2,3and 4
SFweoamlIg FULSHFHaT SpHenil 6bdH 6IMled H(hHHD GomosTerer Siemeuulsy
Brewiged @ URIG 2 pilifarimseiar Quermeal o mig Fuign Gsmeten Geuswmi(Bld?
l. GQWISHSH HM6VAUT

2. UMJTEHLOBIBSHH60 LOTHlevRIS6T6T LT HIB & dgHieuld

3. Tougl S L euementulsvleien gHTaUBHl @ LI IQUIeD

4. wrpHlev L 1o6B Gosvensy GLOILIL]

s auflenguled sflwmenr allewLemwl GHiTey Gl

aufleng:
a. 1, 2 woBpid 3 b. 1, 2 wBmid 4
c.1, 3 wBpd 4 d. 2, 3 wBpwb 4

The Secession of a state from the Indian union has been bared by the
a. 16t Amendment b. 22rd Amendment
c. 29t Amendment d. 35t Amendment
ObHw  welweledmba 6bhe rbHeodpd LIflwmg ug UTHSTSGD DFHuied FTge
glL HHHS?

a. 16-augl FTHHSHSD b. 22-eug FMHHSHID
C. 29-aug FTHHIHPID d. 35-eug STHHmSHHID
Match the following - Establishment of states and choose the correct one :
States
A. 36th Amendment 1. Goa
B. 13t Amendment 2. Manipur and Tripura
C. 27th Amendment 3. Sikkim
D. 56" Amendment 4. Nagaland
A B C D
a. 3 4 2 1
b. 1 3 4 2
c. 2 3 1 4
d 1 2 3 4




[ 11.

[12.

[13.

[ 14.

LevT6u(HeUeTOUMBMIGT LOMHleVRIGET SIMWLILG GBNSHSH Fllwneaiens BziTe OFulism:

LOMTH]6VMRIS 61T

A. 366015 FFmeHHd 1. Gameur
B. 136ug SFrdhmasid 2. wewiliyT & Hflygm
C. 27aug FnFmesid 3. ladb
D. 5660ug FrgmeHHLd 4. BISHTEOTHSE)

A B CcC D
a. 3 4 2 1
b. 1 3 4 2
C. 2 3 1 4
d 1 2 3 4
Article 25 of the Constitution of India guarantees
a. Right to Religion b. Right to Property
c. Right to life d. Right to equality
OhHw sfweosnliier 25-aug alg o SHHreunHoeilliLig
a. gow o fenp b. GarsHziNeno
c. 2 ulT eumpb o _rMenio d. swszen o fenw

Which one of the following is not a formally prescribed device available to the
members of Parliament?

a. Question Hour b. Zero Hour

c. Half-an-hour discussion d. Short duration discussion
LUTTTEBLOGTD 2 MINTeTHEhdE LleTel(heuaeuBmIeT (Wedm gFMiTheH SHAIWTS E6060TSH
BleveowITd @B 61517

a. Gzeita GmyID b. ysuw Gmyb

c. omywentl Ghy eleursid d. emdwu sme aleuTsid

The National Commission to review the working of the Constitution was set-up

in the year

a. 2001 b. 2004 c. 2003 d. 2002

SIFwevenioli] OFweoLBLD alddHend pITul CHFW SLeneTuiD DIENLDSBLILL L. HL6w1H
A. 2001 b. 2004 c. 2003 d. 2002

Which one of the following statement is/are true with regard to formulation of]
the government?

a. There is a rule in the business of the government which mentions that sungle

largest party that gets majority will form the government
b. There is no written rule on inviting the single largest party by the 2d Jargest
party to form the government. It is a convention
c. There is a provision in Part I of the Constitution




| 15.

[ 16.

[17.

d. Representation of Peoples Act provides for inviting the longest party to form
the government

SIIFTRIBD GBRUBGSBINS GNP HH BDHEHEMIL 61hSH FmBml / FBuIbHeT 2 6wieno?
a. 9flg) QupbuTaieny CUBB &L FWNRIFH AITHHE DTFTHISHMSH DIMIDHGD 6163
o& Ggweopens algHluiled GBIUILLIUL YHSSBSI

b. of& Gu@mbuTaen CuBB & FHCWT bed DBHH BTEUILTalsH Heneouled
DHEGL SLFACWT DISTRSHMS DMDEGD 6ISIDI 61hFH @(H 6I(RSHH algaled ald)
Sl wngl. 8% @b I

c. odfweotier LuGsH — lev BsmsTar ald @mHEHmS.

d. wéser HRHSBN FULSHHO ofigh QuBbLTEIDD CUBB S &, DFFThIGLD
SIMHH IMPSBILBSBSHI TR FnMISIWITT

In which one of the case, “Passport” is considered as part of personal liberty?
a. A. K. Gopalan (1950) b. Indian Express Newspapers (1985)

c. Arumugham (1953) d. Meneka Gandhi (1978)

abhd  UPSEBH  ‘BLFFLB  Oupeugk FHlwelH  S&FHHHT 2 Memou L 6l
CHTLTYDL WSHTH SHBUILIL L FHI?

a. §.8s. Gamumevedt (1950) eUPHSE)

b. @bFHwer erdevLlFed GFUIFHSTET (1985) aUPHS,
C. BIPsD (1953) aUPsHG,

d. Goensr &THAH (1978) UG

Which of the schedules deals with division of powers between states and union?

a. Fourth b. Sixth c. Seventh d. Ninth

Leitaupld DI L aUenewidHere0,  OTHEVRISEHSGWD HIHW  DPFTRSSHSHID  BenL Cul
SIFaTIRIGmen LMsha HHD DL euenewr 6157

a. [BI6VTEUSH DI L 6)U6D6HT b. UBTEUSH DI L 61606807

C. GJIOTAIGHI I L 6606001 d. @SuUsTOSH DI L 6U6n6uT

Which one of the following amendment was called a revision of the constitution
and it introduced changes in preamble, as many as 53 articles and seventh
schedule?

a. 40t amendment b. 42rd amendment

c. 41st amendment d. 4314 amendment

Leteu(hd SIFFWevamIoliL] H(HHFHHISH6M60 6lhS 6iIml, DIFFWEUeDLOLILTNGT (LHBLIL|6nT,
53 opdlwemliy alFHsHeT oBBID 7-6uH DI Leuenent HwuBMBe0 H(HHDHHISM6T
CFUISHHET (LP6VLD, DITF Ul LOBILIGIIIL] 6TETBeNLOSSLILIL L HI?

a. 40aug odlwevmli] HHmSHHD b. 26z SFfuevemiori Hm i

c. 4leug oydweveniori] HHmbsd d. 43eug SSwievamiori SHHHHID




[ 18.

[ 19.

 20.

| 21.

The Protection of Civil Rights Act came into force on

a. 19th December 1974 b. 19th November 1976

c. 19th December 1975 d. 19t November 1977

Gl o Mend6eT LUTHISTILF FLLID DI(PpedH@ Odmeni(h euylill L [HTel
a. 19 &buT 1974 b. 19 meubu 1976

c. 19 w&buT 1975 d. 19 meubui 1977

Who one of the following persons is the ex-officio chairmen of the Rules
Committee, General Purpose Committee and business Advisory Committee?
a. The Speaker b. A member elected by the house

c. The Deputy Speaker d. A member of Ruling Party
LledTeu(mLIU(HET 6TeuT @(heuT. alFHl(pedmeeT @&, gl CrTesmiden LHTE (& (1D,
uenl L GeoTgFmeTd@H (1D pBweuBmlel LHal aUlSHSHemevalT SLeIT?

a. SUMBTWST b. gewuwmed BHTHOHBHBLILL L o mIniernm @QHeuT
C. SHIWEWT FUMHTUISST d. ouepmisl & o BT @meuT

The Indian Constitution describes legislative relations between Union and States
in Article from

a. Articles 245 to 255 b. Articles 256 to 263

c. Articles 264 to 267 d. Articles 268 to 276

b alFseilen S BbHHW DFFluieoswiolil] SHSHUl LoBBID LMHew &L L GHaHlenmulled
2 _me|sel LBKY GBILLEGSBSHI?

a. elfmeit 245 — 255 b. elfassit 256 — 263

c. aldser 264 — 267 d. elmeir 268 — 276

Which of the following recommendations. Are made by the Administrative
Reforms Commission to improve relations between the political and permanent
executive?

1. Minister should try to develop a climate of fearless and fair play among
senior officers.

2. Minister should not intervene in day-to-day administration except incase of
servous maladministration.

3. The official relationship of Secretary to Minister should be one of confidence
of that of minister to Secretary one of loyalty.

4. Prime Minister Should takes special interest to arrest/growing of unhealthy
personal affiliations.

v. All major decisions should be briefly reduced to writings

a.1,2,4and 5 b.1,2,3and 5

c.2,3and 4 d.1,2and 5




piteuTd FTHHSHHSD DPFwed BBID HIbHHT CFwBG el enL GuiuleiTern

® mened CIbLBGSHS SpHHewiL 6lhd LfbaHiengdsemen OFUigleTengl?

1. SIMWEFSFTH6T (PpHSH DFHeTiselenL G LwwBs, wBHID GhTENLOWTET [HEL6V
© M6 GUETTEUSHBBHTR FHLPenev gBLL  (pwlFldbs Geauewr(BLb.

2. pifeurs FTGsB gBUBD FLOWMIGHT60 DMIDFFTH6T Heweouleom@o Haly,
SIGBTL HITOUTSHHH0 HENeOUIL Fnl THI.

3. QFweoT, SIMIFFTHEHHHmLCuiuieoren Sivialevd 2 Ba| HIDLIGHmNS LOBBID
algeuts gl ulled BhHobd Geuewi(BLD.

4. SIMDFFTHEHEB ML UT60TET FicpHOBm 2 malnal HHHH DaUTHen g FBLiLs
&aueld OFashHs Geuewi(BHLb.

5. SIMBNSHFH (PHH W (PI9eYHeme SF(HBHHLTE TSI Cauemi(HLb.

a. 1, 2, 4 wBpIH 5 b. 1, 2, 3 wBBLD 5

2, 3 1oBmIb 4 d. 1, 2 wBmb 5

n

GROUP 12015 - HISTORY

|22, Which of the following were among the main exports of Indus valley people.
Select the correct answer from the codes given below:

I. Wheat

II.  Barley

III. Cotton

IV. Gold

a.l, II and III b. II and III c.Iand II d. IIl and IV

fibg Fwobeel wdHele (PSS gBBILFL  QUT(HeTHM6N SHPHHMIL  GHBUIBHer
epeuld gilwmer alenLemwsd BHhosHbHaHs:

I. Gsrglenio

II. wunired

. umss

IV. shisb

a. L, I wppud 11T b. IT wmmid 111

c. [ wopmup 11 d. III @ IV

|23.  Match List I with List II correctly and select answer :

List I List II

A. Santhal’s Rebellion 1.1923

B. Maplah Rebellion 2.1929

C. Vizag Revolution 3.1921

D. Bardoli Satyagraha 4.1855
A B C D

a. 1 3 2 4

b. 4 1 2 3

C. 4 3 1 2




d 2 3 1 4
uliguwied ITeg ulwed ITe Ler Qurmshs sflwmer alewLenul Bxib0%HMH:

Ul iguiey I Ul iguied 11
A. FMHBHE0H6T H60BLD 1. 1923
B. wmienm sevsid 2. 1929
C. meaugnsd H6eusld 3. 1921
D. umBsmed sHHW Hysid 4. 1855
A B C D
a. 1 3 2 4
b. 4 1 2 3
c. 4 3 1 2
d. 2 3 1 4

|24, The Dravidian Mahajana Sabha was founded by

a. Pundit Iyothee Thoss b. C.S. Srinivasa Raghava Iyangar

c. P. Theagaraya Chetty d. C. Natesa Mudaliar

SHymalL wasTmer Fmumuls CaHTBmIalsSHeuT

a. IBwrgHd HTEFT LW SHT b. fl.eted. wfefaurs grdHe SQUIKISTT
c. 0. Fwrsymw Gyl d. f. pBGLs waedwimi

|25.  Identify the statement, which is not the cause for the failure of Quit India
Movement

A. British Government arrested key leaders in anticipation to the movement

B. Nehru and Rajaji disbelieved in Direct Action

C. Hindu Mahasabha and Muslim League supported the movement

D. British Government suppressed the movement

a. (A) alone b. (A) and (B) alone

c. (C) alone d. (A), (B) and (D) alone

GeusitenemuiBerr  CoueMGupl Buidsd GCaHTevalwedL Ul 6%  SHTJEIO6V6D  6TITLINS
CaTHHSLILL (BeiTen eUTFHHISMeN(HHBHI SIMLWITENLD  HIT6uT.

A. 9REIF OITFTRISD (PETOEFFNHemd BLOAIGHMBUITS (IPHBHUI  HED6VAITHEN6N
Fenpuiled SImL SHHBI

B. Gmrm iompid @yregred o HCGwinit GBIy BLegHmEHeTe0  HIDLIbHmB
M6USHBHAT60EN6V

C. @ba wasTFemU LOBHID (Pervedd 656 @BHL algHmBMU HhHTHHHI

D. syndlev oppgmmhsd GalellisssHmsd DI oHaHuig

a. A (B b. A w G B w’ @G

c. C iol"_(pib d. A, Boppid D sgydui ewpestmib




| 26.

| 27.

Consider the following about scientific dating of the pre-historic period : Choose
the correct code.

I. The technique of radio-carbon dating is based on measuring the loss of carbon|
in organic materials over a period of time.

II. Another dating method is known as dendro - chronology.

III. Palaeo Botany is the analysis of prehistoric plants.

IV. Palaeography is the study of ancient writing

a. I, IT and III only b.L II, Il and IV

c. Il and III only d. IIT and IV only

QUTUTBMISS (PHMSHU HTeVHHET DBaluicd HIQLILIMLUTED HTELHMSB H6wTdha([H6USH 60
Lelteupld sn@enm Heuei: gilwmer Famenm CaibosHMH:

L o il stewsddng e o _ulfart Qurml sefed b Demeydd &iflwd
GMBHIIETENH  CTHILINS DIQLILIHL WLTHS OFBTemIh BHTeVHMS HeThH B  (LpenBEu|
GrgGuim-smiTueT (e»BWITEGLD.

II. wBeBTm Wews GL Crm &TeuddamiliL (Wwenys sleliLGSBS

III. Qxmed sTaugaiuied GHTEL HTaUT almBHMeT DUIR| GFUIaIS

IV. 03me0beupsdHdl (WemB LIDHIST6V 6I(DHBHIHHMET UTFHGD (LPenBUITEGLD.

a. L, Il wppud 1T w1 @ b. L IL IIT w@mid IV

c. Il wommnb T w1 Gid d. Il w @G IV wr @b
Match List I with list II of the following with suitable options:
A. Kural 1. Rishabham

B. Thutham 2. Shadjam

C. Kaikailai 3. Madhyamam

D. Vuzhai 4. Gandharam

A B C D

a. 2 1 4 3

b. 1 2 3 4

C. 1 3 2 4

d 2 3 1

. 4
ucuwied I edmba ulguisd I &g Qummss sflwmer el emuidh GHTHO%H6:
U guied I U guieo 1T

A. @yer 1. flegub

B. gnsb 2. FTSHLD

C. owademern 3. WGHHWITLOLD

D. empens 4. SMHSHTLD
A B CcC D

a. 2 1 4 3

b. 1 2 3 4

C. 1 3 2 4

d 4 2 3 1




[28.  Match the List I with List II of the following with suitable options:

List I List II
A. Brahmanas 1. Forest Texts
B. Sama veda 2. Guide Book for Priests
C. Aranyakas 3. Ritual Texts
D. Yajur Veda 4. Book of Chants
A B C D
a. 4 3 1 2
b. 3 4 1 2
C. 3 1 4 2
d 1 2 3 4
uCiguwisd I edmbag uliguisd 1y QuUITmSHSHI®:
U guied | U guieo 1T

A. LgTDewTIBIE6NT 1. 6U6T [HITGOHGI
B. gmo Geusid 2. UGmasT eufldmlg HiTey
C. SJemtumigbel 3. FLEIG [BIT6LHGIT
D. wegit Geusld 4. AT HITELSH6I
A B C D

a 4 3 1 2
b 3 -+ 1 2
C 3 1 4 2
d 1 G 3 4

| 20.

| 30.

[31. Identify the statement which is wrong;:
a. The modern method of writing with coma, semicolon, and full stop are the
contributions of the missionaries.

b. Robert De Nobili and Caldwell enriched Tamil language

c. The missionaries introduced Printing press

d. The missionaries spread the Gospel only through English language
CaTHHSLILL (BTN UTSHSIWRISETNED HEUBTRT UTHHUIGHMSH DIGHLWITETD ST (H.
a. Beia eSS, (pemuiter &, OFIGsmier, (pBmILILeTeT sleUmeu Loage e e
HOTOBHTEML GG

b. gmuc 19 GEMIeSugd &TeddH Geucoeuid Hillenp GUITHBS  euUENTSHSH6IT
c. adaridel IFF BUbHFHTHnS BHSHWTaled LSl 16T

d. Bejemiser pBOFUIHmW Syhide GomHuied Ll lesrT




| 32.

| 33.

Consider the following Reason and Assertion and choose the correct answer from

the code given below:

Reason (R) : the diet of the early Tamils was noit very different from that of]

modern times. Ghee played a conspicuous part in the diet of all, it fetched a high|

price.

Assertion (A) : Ghee was used freely both by vegetarian and non vegetarian

Avur Mulankilar and Purattinai Nannaganar spoken of the use of ghee.

a. (R) and (A) are correct, (A) is the correct explanation of (R)

b. (R) and (A) are correct but (A) is not the correct assertion of (R)

c. (R) is true but (A) is Wrong

d. (R) is wrong but (A) is true

&P OCBTHHHLILL BeiTen  SHTJelld WBEXID aleTdHHend HHHHev OdTeni®h, gFfuimer

alemLemwl GBluibselalmbal CaHoHM:

sryewitd (R): uewienLw SO wdHHerflen o emieyll LIPESD, Holar SHTeudheansd el
LOTBILIL L H606v. OBUl @hH (IPHIHU 2 enIaITH DIEDTHH LDEBHETHLD
LWSTUGSHHeT. DHBESG DHS allensv SHlewL HHJ

alendald (A): enFalld LDBEHID SIHFAID 2 6HIeID DNeTHSH DSHHEHID GCHUl

LWETL(BSHHIGONT. SLEUT CLPEURISIDTT LOBMID  LiB5 S 6nesot
bedtenmaemImT Gpuiulle LweLm® LB Beopul CFuigasemern

6T(LD I UL|6TTETTGOTIT.
a. sMyewild BB elendsupd &, sryarsdler alenssd Flums CsTbhHeILL [BHelTengl
b.  &mewipd  elendsupd Ff Suemed SIS HST  elendsld  Ffluims
0aT(HHBLILILaT606m60
c. aMyewid &l afendsd Heum
d. smyewid Heum elendbsd &

Choose the correct sequence of the following using the codes given below :
I. Qutbuddin Aibak, [ltutmish, Raziya, Balban

I. Jahangir, Humayun, Akbar, Shahjahan

I1I. Balaji Viswanath, Balaji Baji Rao, baji Rao I, Shivaji

a. I and II only b. II and III only

c.I only d. IIT only

&8 OamhéssiulLappled GUuilOLsmidamenr UweLBHSH Fllwmer  euflengemuls
CaTHO5HG

I. @sHupar MOLUE, BeogiSHlad, @i, UTEOLIGT

II. MemTRIST, aIOTULET, SIGLT, ATEIHTEH

III. ureore) ellerOeumTsd, LMTEOTRS LITRITT6, (LPSHEOTD LTERTTel, Feures
a.lwmpid 1T w G b. I wmmnd 11T o Gid

c.] @b d. III e @b




|34. Identity the correct order of events of Muhammad-bin-Tughlug.
a. Transfer of capital, conquest of Nagarkot, Reform of Token currency,
Taxation of the Doab
b. Reform of Token currency, transfer of capital, Taxation of the Doab, conquest
of Nagarkot
c. Taxation of the Doab, transfer of capital, reform of Token currency,
conquest of Nagarkot
d. Conquest of Nagarkot, Reform of Token currency, Taxation of the Doab,

transfer of the capital
LetTou(houemeuBmled (&G et  HTHend &MV  HiBpFFHHemen Hmev  auflenguied
SIEOLWITETLD  HIT6HIb:
a. HWEUBST LOTBMLD, BHTHTCHT. LewL CuBLIy, SjenLwimen bHrewwl FTHmeHHh, CaHm
Sl 1651 euflal gy

b. oemLwmer prewiw FTHHSSHD, SHwevpsT IBDBL, BHT ot g elflaldin,
BTHTCHT.  UemL GuiBLiL

c. Cxr o g auflal@Hly, HMeUBST LOTHBMBLD, DIHLWITET [BTewIL FTH(HHSBLD,
BTHTEHT LenL GGy
d. mpraTCsm. uemL QuIBLIL, S wTer Brewiul FTHHSHHWD, CHT @t g euflalgdii,
HEMEUHSBT  LOTHBBLD

|35.  Consider the following relating to Babur.

I. The Autobiography of Babur is ‘Babur Namah’

II. It was originally written in Persian

a. Only I is true b. Only Il is true

c. Both I and II are true d. Both I and II are false

uruflesr swafend ‘UTUT BT  SLGLD

II. spaiar cpeo BT UMTIFS GoTHuled o _eieng)

a.l w EGw sFflwmgwb b. II wGGw FflwmEid

c. Il g @yewipd gilwim@id d.LII ey Byewiio Heumpm@id

[36. Pick out the wrong statement.

a. Veerappa, the Zamindar of Koppal rose against the Nizam of Hyderabad in
1819

b. Gadkaris were classes who garrisoned Maratha forts

c. Chakra Bisoi was the khonds leader

d. Sindhu and Kanhu were the leaders of the Kols

SHAUBTET FnBeNDB BLIQHSTL L LD

a. 1819-60 Gamiumed Gymerd MUAGISHTT QIFUILIT CTHTLIUT MABSHITUTS HWT(LPHE, THTTH

SHenTFd CQFUISHTT.

b. &m srilae 1OyTHHUS CHT L& HTOUTHET LAITTHET

c. g&y UGsTWwI eraiiLeuT Copmeni(Baselen HemeveuT SLeUMT

d. FbHan WWBEID HETOB" TEILAITSHT BGHTEOHETNEI HECLATTOITTHGIT




|37.  Match the following :

A. Simon Commission 1.1928

B. Nehru Report 2.1932

C. Second Round Table Conference 3.1927

D. Communal Award 4.1931
A B C D

a. 1 4 3 2

b. 3 1 4 2

C. 3 1 2 4

d 2 4 1 3

SIS IBenB  CILIT(HEHHIH:

A. IFL&T & (WY - 1. 1928
B. Grm oimfidma - 2.1932
C. @yewiLmeugl el L Gensy oMHTH - 3..1927
D. augiy anfls Hiey - 4. 1931

A B C D

a. 1 4 3 2
b. 3 1 4 2
c. 3 1 2 4

d. 2 4 1 3
|38.  Match List I with List II correctly and select answer

List I List II

A. Dupleix 1. Nawab of Bengal

B. Anwar-ud-din 2. British Admiral

C. Shuja-ud-Daul 3. French Governor

D. Polock 4. Nawab of Carnatic
A B CcC D

a. 3 2 4 1

b. 1 2 3 4

c. 3 4 1 2

d 1 3 4 2

uliguwied Iy uluwed II o et QuImss sfwmer el emw CHiThHOH6H
U guiey I U guiev 1T

A. ®UGeT 1. eumIBT6m [HeuTL

B. sieeurmgsein
C. agemar 2 & Gmheneor
D. GunBsurs

A B CcC D
a. 3 2 4 1

SRIFIVLILIDL. SHeTLIG
1Oyehad SHaTeorT
SITOITL&  [HeUTL

e




1 2 3 4
C. 4 1 2
d 1 3 4 2

W

139. In which Indian National Congress session, Mahatma Gandhi was made its

President?

a. Negpur b. Gaya c. Belgaum d. Kanpur

abhd BhHw CHIW STRISITD OTHTL 960 OSTHIOT SMhHEH DIHET HEN6VEUTTHBLILIL LT
a. [BIsbLT b. swr C. GuevsTD d. smeny

|40. Match the List I and List II and Choose the correct code given below;

List I List II
A. Amrit Basaar Patrika 1. Dadabhai Naoroji
B. Indian Mirror 2. Sisir Kumar Gosh
C. Voice of India 3. G. Varma
D. Advocate 4. N.N. Sen
A B C D
a. 2 4 1 3
b. 3 2 4 1
C. 4 3 1 2
d 4 2 3 1

aflensg [ o2 1L a1 aflmsg I & OQurmss eaflossendd S CBTHSBLILL (BHeTen
CaTGUI BB Fllwmer almLemul OFHfle CFuis:
aflens 1 afleng 11

A. 91bflg unT usHfbems 1. srsTuTwl GhenGrred
B. @baluiet 0y 2. fdir @t Carad
C. auruierd &'t @bHwm 3. G. aufiom
D. o1 auBs1” 4. N.N. Qe
A B C D
a. 2 4 1 3
b. 3 2 4 1
C. 4 3 1 2
d. 4 2 3 1
[41.  Which Act is called as black Act by the Indians?
a. Vernacular Press Act b. Indian Arms Act
c. Rowlatt Act d. Opium Act
SHUY FULLID eIl SbHUITH6NTe0 DIenPSHBLILGISHI 61517
a. Mpmhdw Gom &L ib b. @b uixk FLID

C. Qpemevl. &L LID d. 9uiel gL




[42.  Give the correct chronological order:

I. Pitt’s India Act

I1. Minto-Morley Act

III. Regulating Act

IV. Montague - Chelmsford Act

a. Il I, III, IV b. IV, II, 111, I cIIL I II, IV d.LIL I IV

gflwmenr &me0 euflewFenul H(Hs.
L O @pawur & L1b
II. WewrGLm-omiTel &L L 1D
IIl. @umEe WwewssF FLLIb
IV. wrewi@L@ — GFberd@uMT® &FLLID
a. Il I, 1L, IV b. 1V, 11, III, I c. I, L II, IV d. L II, I IV
[43.  Which one of the following statement with to the enactment of the Act of 1935 is
WRONG?
a. Turko-Italian war happened
b. Rowlatt Act and Jallianwala Bagh Tragedy occurred
c. Round-Table Conferences held
d. Lord Curzon Partitioned Bengal
1935-10 Wi @uIBBLULL FLID GHTLTUTET SDEHMIL 61hd FnBml / FnBHISH6i
saum?
a. MHBG - B HTedw CurT gBuLL Gl
b. Qpemevl. FU LD BBID MTEIHET UTCOTLITS LIBGOBTEN Bl [HHS)
C. aul L Gweng LOMBTHS6T HL[HSeT.
d. amstengmag s gy LIASHTT

[44.  Which of the following is/are not correct?
Minto-Morley reforms of 1909 introduced the following.
I. The system of direct election was introduced in provinces
II. The act did not enfranchise women
III. It introduced diarchy in provinces
IV. Communal electorate was introduced
a. I only b.land I
c. lland I1I d. IIT only
SPGB L eneuseiiled SHeummereuBens GMILILIHS.
I. Gmyg BxiTHed (edBeMUI OTHELHIBT6D GBLIHHH UIHI
II. QuemTaEndd @I Gflend CETHBDATEVM6D
III. @yiem S fedul LOTH6LMIGB6TE0 GBLIGGHH IS
IV. ey euny GxiTmHe0 (pevmenw! SIPI(PSLILIBGSHSH WIS
a. ] @B b. I wpgup II o1 Hd c. Il wmpnd T w @b d. III o Gib




[45.  Who bestowed the title Sardar on Vallabhai Patel?

a. Dadabhai Naoroji b. Jawaharlal Nehru
c. Mahatma Gandhi d. Rajendra Prasad
aleLeOLITUI LIGLaNId@ ‘FTHTT 6Teiiml UL LD Gl iguieu wImi?
a. srsTUTLl GChenGrred b. meauamievmed Gm(H
C. LD&BTSHIOT HH) d. &rmempdly ysns

[46. During 1857 revolt which army remained loyal to the British?

a. Bombay Army b. Bengal Army

c. Madras Army d. Avadh Army

1857-b opewwi® Lyl duflesr Cungl ymsSGeowihd@ alGauTgFons EmHbS SITamIeaD
o1&l?

a. uumwl @rremied b. eukisTen @yTamieuLD

C. QFeaTemar BITEmIAILD d. 96wrsHd BrTamiaid

[47.  Consider the following statements:
Assertion (A):  Scholars distinguished a culture midway between Palaeolithic
and Neolithic called Mesolithic.

Reason (R) : The chief characteristics Mesolithic were the stone implements
used were extremely small and made up of Chalcedony and silicate instead of
quartzite.

Select your answer according to the coding scheme below:

a. Both (A) and (R) are False

b. Both (A) and (R) are true but (R) is not the explanation for (A)

c. Both (A) and (R) are true and (R) is the correct explanation for (A)

d. (A) is true but (R) is false

BB GUTEH B ULIBIBN6T  H6)6:

GaBo (A) : uMPW SBEHTLHIHBGL LUHW SBSTOSHBGL BewL Ll BrEfs
BHTVHMSH B BBHTeVLD 61601 DINlEhTEH6T CoumiLi(h s HIS IBeoTT.

smyewid (R): Bl SEBEHTVHH T (LPHINID LIGWILITSS HHBLILBLIIGT LIgHdh
BBHEHHGL UFH60TH HevF FTUI(IPML Ul OleuexiemiB DewNdh HELEVILD
LOBMILD eIl FHBHIL 6T LFUILILL SHID Osmewni Wseabd Fnlw
SIeNaN6VTe HBHHANH6T DG LD.

a. (A) wppd (R) ByewiG seupl

b. (A) wBpid (R) af syemmed (R) etesiug (A)aler gflwimer smyend Sisdev

c. (A) wppid (R) afl, (R) etetiug (A)alesr shuimer sSTyenid Hrest

d. (A) sf spemed (R) seum

[48.  Choose the correct answer from the codes given below:

Assertion (A):  The Indian National Movement reached its crescendo in the

non-cooperation movement in 1920-22. It was in this context that there occurred




resurgence of working class activity in the years 1920-22. The working class

created its own organisation to defend its class rights.

Reason (R) : Lokamanya Tilak was one of the moving spirits in theformation of

AICTU. AITCU was formed in 1920.

a. Both (A) and (R) are correct

b. (A) alone is correct

c. (R) alone is correct

d. (A) is partly correct (R) wrong

spaamiL GBUWiGsalelmba Fllwrer almLemw CHTHOHG

FHBB (A) : @bHw SFSHATT CuIITLLID Lgliiguirer euemT&d cpsotd 1920-22
RHBIMPUITEDD DUISHLD U] DIDLHSHEH. BSHHHEHH 6L SHTeot
© _MPSGD aUTEBHHeT CuIITLL SHFH60 HevbHEH OHTERIL GIT. EEUTHET
FHRIB6T 2 _MenDSETH Q[ DML 2 (HeUTHB6OT.

sryewid (R): 1920 &b SLewip SiewanhHbHHU CHTI60TeNT &nl L eLDLIL]
® (HEUTHSLILILL FHI. BeleuemolIenl! 2 (HauTédd 2 hHIGHTeUTS G (HHSHEUT
BeuTHLOTEITUI  &560HT.

a. (A) wppw (R) &l b. (A) wi G &
c. (R) wi@w & d.(A) usd wiew sfl R) saum
GROUPI 2015

[49.  Which one of the following is the smallest ratio?
7:13,17:25,7:15,15:23

a.7:13 b.17:25 c.7:15 d.15:23
Leltaumeuemeummled WaFFSlw aldlsd wmg?
7:13,17:25,7:15,15:23

a.7:13 b.17:25 c.7:15 d.15:23

[50. In a mixture of 60 litres, the ratio of milk and water is 2 : 1. If this ratio is to be 1:
2 then what is the quantity of water to be further added?

a. 20/ b. 30 / c.50/ d. 60 /

60 eI LT &evemeuuiey, LITeD LOBMILD Hevwrewiflent aldHd 2 : 1 @bFH elaslgd 1 : 2
a5 QHHs CouewiBhOoeaied, FnBHeoTs BFToHed Fnlgul Hewlenime Siemey WITSHI?

a. 2060 b. 30 & c. 50 &0 d. 60 &

|51. Two numbers are in the ratio 3 : 5. If 9 be subtracted from each, then they are in
the ratio 12 : 23. Find the second number

a. 52 b. 53 c.54 d. 55

3 ¢ 5 e alFHHHe0 G elewiHeT 2 6iTeNad. Dewel  @elbleuTelSledl(HHHID 9
SPSSILULLTO emed 12 : 23 6B B HHHV(HEGID. ET6wILTeUdH 6160160681
BTG,




52.

| 53.

1 54.

55.

156.

Sum of squares of three positive numbers is 608 and they are in the ration 2 : 3.
Then find the numbers
a.6,9,15 b. 8,12,20 c. 10,15, 25 d. 14,21, 35

cpeiipl  Lend  elewidelent  aUTHEmIS6eMET  FnhHeo 608. Guwed ieI6leU6TIH6T 60
ABHEIBET 2 : 3 : 5, elelled DIbhS 6I6wwIH6T WTeneu?

a.6,9,15 b. 8,12, 20 c. 10,15, 25 d. 14, 21, 35

If30% of A=0.250f B = % of C, then find theratio A:B: C

a.15:12:10 b.12:15:10 c.10:12:15 d.10:15:12

A — &t 30% =B-a 025= B= % Coafler A:B:C eaiaiip oldssmss HTam.
a.15:12:10 b.12:15:10 c.10:12:15 d.10:15:12

What is the third proportional to 0.34 and 0.50?

a.0.74 b. 0.75 c.0.76 d.0.77
0.34 opmb 0.50 a3 eTenwIBET6EHT CLOGIBTID B HID 6l6iT60T7
a. 0.74 b. 0.75 c.0.76 d.0.77

Read the following statements:

1. Either A and B are of the same age or A is the older than B

2. Either C and D are of the same age or D is older than C

3. Bis older than C

Which one of the conclusions can be drawn from the above statements?
a. A is older than C b. D is older than C

c. A is older than B d. Band D are of the same age
LNeiTeu(HD FnBBISHEneTLl LIgdHsd

1. A-up B-uyb swaiwugienl welTseT oeveod A opeialm By afL GuflweuT
2. Cub D-uyb swaiwigient weitset eveod D speeut C-3 ol GQuiflweu
3. Boameaum C-g3 ol GQuiflweur

a. A geaim C-gy el Quiwenr b.D gemeum Cy el Quilwieu

c. A gyeaum B-g el Quiflwent  d. B-ugb D-uyb Foeuwigient_wieuimabeit

The minute hand of a circular clock is 14 cm long and that of hour hand is 7 cm.
Find how far does the tip of the minute and hour hand move in 30 minutes?
a. 88 cm, 3.66 cm b. 22 cm, 0.915 cm

c.44 cm,1.83 cm d. 1.83 cm, 88cm

QRH SYBITTHH BIOL oB®ID Lewl (WeiTfseer Hemd (WepGw 14 OF.15 oB@Id 7
Gg.15 30 HiLmseled BIOL (el LOBMID Loewll (LpeiT 6Teleusney SHIILD HHHLD?

a. 88 Q&.5, 3.66 Q.5 b. 22 Q.8 0915 Q.8

C. 44 QF.6, 1.83 QF.16 d. 1.83 Q#.8, 88 Q&.8




|57

| 58.

159.

160.

161.

162.

A heap of paddy is in the form of a right circular cone whose diameter is 4.8 m
and height 1.8 m. If the heap is to be covered exactly by a canvas to protect it
from rain, find the area of the canvas required.

a. 22.6 m? b. 27.2 m2 c. 13.6 m2 d. 11.3 m2

GrhiTeul Lanlbl] eugalled @Galdbasliul L GpBGalwedsr ol Lid 4.8 15 wBBID DIH6
o wyb 1.8 15 eleiid. @ OBMGalwensy WenPUNeS(HbSHI LITHISTHE &HoHHTen HienfluimeD
Has&Fafiwme cpLliubGadpgl oened, CHemeuwimer SHoHeHTer Hlewluler LIFLenLIss &Teul.
a. 22.6 1 b. 27.2 c. 13.6 1 d. 113 5

If ax=Db, b’ =, ¢ = a, then what is the value of xyz?

a.3 b. 4 c.9 d.1
ax=b,br=c,cZ=a eeafled Xyz -1 WFHLIL| ereiter?
a.3 b. 4 c.9 d.1

Find the percentage increase in the area of a triangle if its each side is doubled.

a. 100 % b. 200 % c. 300 % d. 400 %
R (WPHCHTHH T @PAIOUT(H USSP @UH OLMISTEH DIHSMHSILLLTE0, Db
(pHCHTEIHHT LITLILIONG| 6THBHMEN FHABD DIHHMNHH (HBHGLW?
a. 100 % b. 200 % c. 300 % d. 400 %

The sequence follow a regular pattern. Find the correct letter for question mark,
to complete the sequence.
CEIKOQ

a. R b.S c.T d.U
&Bp o sitenn auflews h (Wedpwiter wrGHflenwd FnihsdH, Coelaldb@Gn @LUL @ GFH60
gflwmer el(pHmBHDH CETemiB Henmey OCFUIsm.

a. R b.S c.T d.U
. . 4 3 7
Find Least Common Multiple of —,—~ and —.
510 15
a. 3 b. > . 2 d. 12
5 84 15 15
g% LOBMILD % S FweBple WBFAM CUTH 0L HIend  SHTeur:
a & b. > . 2 d. 12
5 84 15 15

Three number are in the ratio 1 : 2 : 3. The highest common factor is 12. Find the
numbers

a. 12,24, 36 b. 24,48, 72 c. 12,24, 48 d. 48, 60, 72
PGl 6Temidel 1 @ 2 : 3 eeiB alSlgHHHev 2 elener. SeuBpler LOLOLH CuTg
snyent (H.C.F) 12 aefled oibg elewiseln wimeneu?




163.

| 64.

165.

| 66.

167

| 68.

If the two numbers are in the ration of 2 : 3 and the product of their highest
common factor and least common multiple is 150, then find the sum of the
numbers.

a.b b. 10 c. 20 d. 25

Breni® elewideier alHHd 2 : 3 eueuswideiledr WOLIGUMH GUTH STyenl LOBBID
BFHm Qurgl wLmIEG spFweBslear CUmESGSH CFTemsd 150 ealed, DbHdH B
oTenIBeNe Snl B OHTensd wimgl?

a.b b. 10 c. 20 d. 25

The length, breadth and height of a hall are 8m, 10m, 4m respectively and the hall
has one door of area 3m x 1.5m. Find the cost of painting the walls at the rate of

Rs.200 per square metre.

a. Rs. 28,800 b. Rs. 59,900 ¢. Rs. 27,900 d. Rs. 60,800

QRH DIMBUTET HEMD, SIH6VD MM o Wiy (WedmGw 815, 10 15, 4 15 wB®Ib 3 L
1.5 18 ugliuene] OFHTWIL @F HHOD 2 66Nl eUewienild LLF FHT WL (HdHG . 200
CFLAT@LD CTRIMTED, DIHG GaUTHEHDHG 6UTEwID g eelelenal CFHTend 6Feveum@Ld?
a. ep. 28,800 b. 59,900 C. p. 27,000 d. em. 60,000

If the capacity of a cylindrical tank is 1848 m and the diameter of its base of its
base is 14m, then find the depth of the tank?

a.12m b. 14m c. 15m d. 18m

R 2 (Hemel  allge OB 1puiest OBmeiteneuTerg 1848 1S BBID  SiHaEDienL Ul
Al Liomerig 14 15 6Tedlleld DIHEMIML Ul SLPD WITGH)?

a. 12 1§ b. 14 1§ c. 1518 d. 188

The length of a chain used as the boundary of a semicircular park is 72m. What is
the area of the park?

a.77m b. 91m c. 126m d. 308m

ST all L augaileomen LmisTalel Geaueliwimall LWeUBSSILIL L Fhiglellulle Hemb 72
15 6TeolleV, LLMIBTeN6T LFLILIeTe)] WITH?

a.77 % b. 91 & c.126 5 d. 308 15

Find the least number which when divided by 5, 6, 7 and 8 leaving a reminder 3,
but when divided by 9 leaves no remainder.

a. 1677 b. 1683 c. 2523 d. 3363

QU &AM etewr 5, 6, 7 MWD 8-60 UGSSUILIGLOUTILS BFH 3 DHD. 9-9L6Y)
AUGHSSILGLOUTISI S 6IHID EeDenev 6660, Db 6Tewl WTHI?

a. 1677 b. 1683 c. 2523 d. 3363

0.728x0.728—-0.272x0.272
0.456
a. 0.456 b.1 c.0.728 d.0.272

Simplify :
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0.728x0.728—-0.272x0.272

G(HHGHb:

0.456
a. 0.456 b.1 c.0.728 d. 0.272
If X_3 then 2X*2Y jg equal to
y 5 5x -2y
a.3 b.5 c. 2 d. 2
5 5
X 3 . OSX+2y . . .
Z =2 areflev LG THBSHF FIOID
y 5 5x -2y
a.3 b.5 c. 2 d 2
5 5

A person’s person age is two-fifth of the age of his mother. After 8 years, he will
be one half of the age of his mother. How old is the mother at present?
a. 42 b. 40 c. 45 d. 48

o npufler sBCUTMSHW auwgkl SeuT STwmfer aluHed QhHAHleL EFenwi(h LOLHIGHTH
® 6itengl. 8 eU(BLMIGB6T HfHaH Seuflet auwg, SleuT HSTwmfler euuwFHed UTHWTS
o eitengl. HTwmiler SHBOLTMHSHUI GUUIFHI 6T6dT60T7

a. 42 b. 40 c. 45 d. 48

Find the value of 1.2x1.2x1.2-0.2x0.2x0.2

1.2x1.2+1.2x0.2+0.2x0.2
a.1.2 b.1 c.0.2 d. 14
1.2x1.2x1.2-0.2x0.2x0.2

—60T OGS HTEWIH.
1.2x1.2+1.2x0.2+0.2x0.2

a.1.2 b.1 c.0.2 d. 14

A bicycle marked at Rs. 1,500 is sold for Rs. 1,350. What is the percentage of
discount?

a. 12 b. 15 c. 11 d. 10

@ Wgleuemrguier allensv ch. 1,500 eiaiml GMISSLILL (BHeTengl. @FHener h. 1,350 &@&
AlBmTeL, H6MEDHLIY FHOIHLD 6T6sTe0r?

a. 12 b. 15 c. 11 d. 10

A can do a work in 10 days and B can do the same work in 15 days. They earn Rs.
1,500 together. How will they share this amount?

a. Rs. 850 and Rs.650 b. Rs. 900 and Rs. 600

c. Rs. 950 and Rs. 550 d. Rs. 1, 000 and Rs. 500

A @ Geauemevenws 10 BT sefleuid, B &iema 15 BTl seflsuid Gauig (pliuir. S me(bid

Gaibg oeIGauemevenwidF OFuigh ep. 1,500-3 FLIQITED, SHOSHTnHMUI  6TeIGUTR]
fghais CsmeiteuT?
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a. ¢h. 850 wBEID ¢h. 650 b. ep. 900 wBBID ep. 600
C. ¢h. 950 oBWID ¢H. 550 d. ap. 1,000 wBmpd em. 500

If 6 men and 8 boys can do a piece of work in 10 days while 26 men and 48 boys
can do the same work in 2 days, then what is the time taken by 15 men and 20
boys to complete the same type of work?

a. 4 days b. 5 days c. 6 days d. 7 days

6 SeNIH6T, 8 FpalTaeT Senewibdl @ Coauensvenwtd Gauiwl, 10 BT &6 ChHemeuliLiBLD
LOBBID 26 SeuibhHeiT, 48 FpieuTser Senewibdh HCH Goauensvenut 2 BT &eilled GgFuleur
aiedlleL, 15 syemideil 20 FmieuTder CFbgh SI685 Gausmevenuwld QFUILI 615HFHEME HTL H6IT
CxpeneuliLIBLD?

a. 4 BIL &6 b. 5 B _sei

C. 6 BTG d. 7 mpmsen

A plot of land is in the form of a quadrilateral where one of its diagonals is 100 m|
long. If two vertices on either side of this diagonals are 50 m away from the
diagonal. Find the area of the plot of land

a. 5000 m? b. 1000 m2 c. 10000 m? d. 500 m?2

@ (B SIWTEISH BTBSHT algaled 2 6TeNdl. DIHT Q@UH P Il L SHH6T HeTLD
100 15 cpemevall L SHleT IHOTHIT LSIHIBTN60 2 616  (LPeDIH6T ST6wI(BLD  cLPED6V
Al L&FHedmba 50 1§ OHTensvaled @(HLUILTewr, Wweneruilet LTl wirg?

a. 5000 1 b. 100015 c. 10000 1f d. 500u5

If “NOIDA” is written as 39658, how will “INDIA” be written?

a. 36568 b. 63568 c. 63569 d. 65368
“NOIDA” aiasiuigl 39658 etenn e1apsli’ Lmed “INDIA” er6iiLend e6leuTml 61(Lp&He0MID]
a. 36568 b. 63568 c. 63569 d. 65368

What is the standard deviation of the first n natural numbers?

n? -1 b, n?+1 o /n(n+1) d \/n(n+1)(2n+1)
12 12 2 6

(PH60 N Buled eTenideTel HI L allevdbHlD 6T6dr60r?

In the series

641228742153862171413286

How many pairs of alternate numbers have a difference of 2?
a.2 b. 4 c.6 d.8

641228742153862171413286
a3 OHTLM60 QaImIOI (H &IMl 6lewIH6eNTSH cidhHemen Cmmoseaier alsHHLTFD 2
6160185  SHIT6E0ITh:

a.2 b. 4 c.6 d.8
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If + mean X, X means -, + means + and - means + then what is the value of (175 -
25) +(5+20)%x(3 + 10)
a. 265 b. 78 c. 77 d. 354
+ aIdILG X, X eIl -, T el T LOBMID - 6TSILG T 6160760
(175- 25) = (5+20)%(3 + 10) a1 &y wmg?
a. 265 b. 78 c. 77 d. 354

In a geometric series, if the fourth term is % and seventh term is é—i, then what is

the first term of the series?

a. 2 b. 4 e B d 2
3 9 27 4
R OumEGHH OHTLT euflwsuler mHTaISTEISH © ML % LOBWILD  SISH6T  GJLOTEUS
® M eTefleL é—ig@gn aflenguieT (1pgHe0 2 MLl 6Tedrent?
a. 2 b. 4 c 451 d.2
3 9 2% 4

In a cylinder, if radius is double and height is halved then what happens to the
curved surface area?

a. Halved b. Double

c. Does not change d. Four times
R o (hHewenulled, b &H WLMSTESIUL(H, 2 WID uUTHWTS GHHBSSLILILL TV
SIS LBLILITLIL] 6T60T60TeUTEHLD?

a. uTHwm@Lb b. @i misBTED

C. LTBTEH B (HBGLD d. e L BIBTEGD

The length of side of a rhombus is 5 m and one of its diagonal is 8 m. Then what
is the length of other diagonal?

a.5m b.7m c. bm d.8m
QRH FTUFHITSHH O USBHHT Henld 5 15, DIHT @@H cPpened &l L SHH 6 Hembd 8 L
oIl DIFHeT LBOEBTH cLpenevall L SHFHl6T Hemd wmgl?

a. 516 b. 7 18 C. 6 16 d. 8 if

A, B and C can complete a piece of work in 24, 6 and 12 days respectively. If they
work together, in how many days they will complete the same work?
a.1/24 day b.7/24 days c. 24/7 daysd. 24/11 days

A, Boppib C eaiuaiset @ GCealemevenul (p19Hd (WewpGuwi 24, 6, 12 BT &6l
dBHIHIS OEmeieuT elafley, I8 Gouemevemul DIUTHT DieneTAUHD EewewibhdHl GFUIH]
(WPI&5E THHMmET BT &6 ChHemeuliLiBhd?
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a.1./24 mm_sei b.7/24 mrsen
c.24/7 ket d.24/11 mm e

12 men complete the 2400 sq.m ploughing work in 10 days. How many men are
required to complete 3600 sq.m ploughing work in 18 days?

a. 10 men b. 15 men c. 18 men d. 20 men

2400 &5 pevdma 12 Geuemeowm &6l 10 BHIL&6Me0 o (& (WLt 3600 &.1f
BevdHemad 18 BT &6aled 2 (paudBG edHHmaer Goaueneowiml &6l GHeneu?

a. 10 sy el b. 15 &y ®ei

C. 18 &y el d. 20 sy ®ei

2 men and 7 boys can do a piece of work in 14 days, 3 men and 8 boys can do the
same in 11 days. In how many days, 3 times the work can be completed by 8 men
and 6 boys?

a. 21 days b. 18 days c. 24 days d. 36 days

2 oemikelt, 7 Fpaliset CFhE b Gouensvuilenet 14 BT &eifled (IQLILT 3 SLEWIH6IT,
8 Fmieuder Gaibgl, 9I16% Geouemevenws 11 BT Hafled GFUIH (PQUILIT. 6leled, DICH
GurmeL epeiml 0L MHIG, Gouemevenul, 8 SLewidelT, 6 FBleuTHeT CFIbHEH 61HHemer BTl Heiiley)
Cawigl (pliuT?

a. 21 mr el b. 18 Bl et C. 24 BT el d. 36 mTsei

Among the 50 staudents in a class, what percentage of students like biology and

chemistry?
subjects No.of students
Mathematics 6
Physics 12
Chemistry 15
Biology 8
Computer science 9
a. 64% b. 46% c. 23% d. 77%

@ auGULlgeTen 50 LTeueUTH6ele0, 6idhHmenn FHaidk LmenreuTser GoeugluiuieD,
© ufiflwed LML mIBemeT al(HLDLIS GITB60TT?

LIMLLD LDITGOOTGUITEH6YTIG0T 616001600 60
Bl SHLD 6

SuiBLilwed 12

BGougsluiev 15

o ufiflwed 8

& 60011601 U LLIGD 9

a. 64% b. 46% c. 23% d.77%
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For any n obswervations of data, what is the value of (3 x)-nx?

a. n(>.x) b. (n - 2) nx c.(n-1) x d.0
hp @ N aeiiselsr OSTGIIBED (Y X)-nx & WL wirg?
a. n(>.x) b. (n - 2) nx c.(n-1) x d.0

Alex invested an amount of Rs. 8,000 in a fixed deposit scheme for 2 years at
compound interest rate 5% per annum. How much amount will Alax get on
maturity of the fixed deposit?

a. Rs. 8,600 b. Rs. 8,620 c. Rs. 8,820 d. Rs. 8,840

I BHG Sep 6B Sal(h euLliguiled, 2 SenihBEhHGH Di0evdherd ereiLeuT qh 8,000-

8 BIhay @l HLsFHed WHeSh CFUuSapIT. Bbs WHeSB WIHMe| SieLub
QUTEI, DIbleudHerd UMD OHTens WTg?

a. a5 8,600 b. . 8,620 C. ep. 8,820 d. ep. 8.840

The difference between the compound interest and simple interest on a certain
sum at 8% per annum for 2 years is Rs. 240. Find the sum.
a. Rs. 35,000 b. Rs. 35,700 c. Rs. 37,000 d. Rs. 40,000

Brewi® SLT(HHEHDHE, UMIBHHG e a1y aiHHH6, @ CHTensulear gl B aul iy
LOBBID Heleul 1pHEhdHE& B Bui 2 eten alHSHuITgd . 240 ealed ObHFH CGHTensulle
D& 6T65T601 7

a. ep. 35,000 b. ep. 35,700 C. . 37,000 d. em. 40,000

If the rate of simple interest is 12% per annum, then find the amount that would
get interest of Rs. 6,000 per annum.

a. Rs. 82,000 b. Rs. 50,000 c. 72,000 d. Rs. 45, 000
oeihd@ 12% sefeauly ainpddHled oh. 6,000-3 @Irewi(h el lguitd CaTHHESID
CFHTNHMUIDH BHTEWIH.

a. . 82,000 b. . 50,000 c. 72,000 d. . 45,000

Three solid metal cubes, whose edges are 6 cm, 8 cm and 10 cm are melted and a
new cube is made. Find the length of edge of the new cube.

a.12 cm b. 24 cm c.20 cm d. 48 cm

6 Qg.5, 8 5.5, 10 QF.15 udbseTen cpAIB 2 BeoTHHHTeVTET HEWILD HEIFHITHIGHE
© HSGBIULG @ UHw HaiFmHghd CFlwiuGHpa el LHU  SaIFHITSHI 6
LUsbBHHeT Hemd wimgi?

a. 12 Q.6 b. 24 Q5.6 c. 20 Q&8 d. 48 G&.8

Find the number in the place of question mark.
21, 25, 34, 50, ?, 111, 160
a. 86 b. 72 c.75 d. 59
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Cxpeitald GHBUILL B HFH6L QUHLD 6T6RIEN6ITSH  BHT6uIH:
21,25, 34,50, ?, 111, 160
a. 86 b. 72 c.75 d. 59

Find the next number in the following series
4,6,9,13 %

a. 20% b. 22% c.19 d. 17%
Nettaumhd GOHTLMeL DIBHFH GUIHLD 6T6HI6NEIT  HIT6HIb.
46,9, 13 %

a.20% b.223 .19 d.17%
4 4 2

PHYSICS - GROUP I 2015

If the time taken by a cup of tea to cool from 85°C to 75°C is 1 minute, then the
time taken by it to cool from 65°C to 55°C is

a. 50 seconds b. exactly 1 minute
c. more than 1 minute d. 30 seconds

@@ Camiemu BxmpT 85°C Geauliupleneouledmpba 75°C &@d GeflTeusnLw 1 HIOLLD
& 6wals0, 9@ 65°C-uledmba D5°C &@&d GHealiTaumLul LG HT6O DI6N6]
a. 50 elenmgse b. gflwrs 1 LD

c. 1 PO SIBSHID DIHHID d. 30 elemmgaselt

The rest mass of a photon is

a. zero b. exactly 1 minute

c. dependent on its wavelength ~ d. dependent on its velocity
SBuml Lmeflent Ui HledmuITeTg

a. &

b. mpflebeunsHE

C. DIHET DIMEVHOTHMS FMMHH(HEHGLD

d. gz HmsBaissHms FribH([HBGID

Which of the following sets have different dimensions?

a. Pressure, Young’s modulus, Stress

b. Emf, potential difference, Electric potential

c. Heat, Work done, Energy

d. Dipole moment, Electric flux, Electric field
Letreuheueeummien GleueliGeup LfiomenimidseT GeTemiL G 61g!?
. (LSS, WRIGMIBLD, HeNH6)
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98.

99.

P00.

b. Weelwse i, Weaenpdhd Coumun®, e IpHHLD
C. Geuliub, Geuemev, SLMBMEL
d. ®muwemer Hmliyd HmeT, 1OedTLe0I1 LITUWID, LOGTL6VLD

The number of generalized co-ordinates required to describe the position of a

simple pendulum is

a. 1 b.2 c.3 d. 4

R Sl 2aFalen Hensvenwl Sl ChHemeuwimer CUITHIHEN6D LUIMKISH6N 60T
6T 6T G001 EH 6

a. 1 b.2 c.3 d. 4

If gis the acceleration due to gravity and Ris the radius of the earth, then escape
velocity is given by the relation

a.V,=\2g b.V,=2g c. V, =./2Rg d. V. =2Rg
g ualufriy phsésbd wipid Ruyel sub eeflsd albu® CausslBsTer F6ILITH
a.V,=\2g b.V,=2g c. V, =,/2Rg d. Vv, =2Rg

The relation connecting Young’'s modules (E), Bulk modules (K) and Rigidity
modules (N) is

9 3 1 OOy 1
d. —=—+— b._=_+_
E N K N E K
9 1 3 9 1 3
C. —=—+— , A hw
N E K E N K

wrigesd (E) umws @evsbd (K) wBpid eleslys @esh (V) spdlwebens
BemeniSGLD FLOGILIT(H

9 3 1 9 3 1
— =4 — =
E N K b.N E K
a.
9 1 3 9 1 3
C. —=—+— d —==+=
N E K E N K
The S.I unit of gravitational constant G is
a. N Kg= b. Nm kg1
c. Nm2 kg d. Nm?2kg?
yeiuimny wrpdled G-uflesr S.I. oleuE
a. N Kg2 b. Nm kg1
c. Nm2 kg1 d. Nm?2 kg2




